DESIGN CRITERIA

1. APPLICABLE CODES:

A. 2020 FLORIDA STATE BUILDING CODE (2020 INTERNATIONAL BUILDING CODE)
B.  MINIMUM DESIGN LOADS FOR BUILDINGS AND OTHER STRUCTURES
(ASCE 7-16)
C. BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE
(ACI 318-08)
D. STEEL CONSTRUCTION MANUAL, 14TH EDITION (AISC 325-11)
E.  SPECIFICATION FOR STRUCTURAL STEEL BUILDINGS (AISC 360-11)
F.  AMERICAN WELDING SOCIETY STRUCTURAL WELDING CODE (D1.1-04)
2. LIVE LOAD:
A.  ROOF LOAD: 20 PSF
B. HEATER LOAD: 350 LB POINT LOAD
C.  DRY SPRINKLER: 5 PSF

DEAD LOAD:

=

A. ROOF LOAD: 5 PSF

4. OCCUPANCY CATEGORY: II

SNOW LOAD:

o

GROUND SNOW LOAD: 0 PSF
IMPORTANCE FACTOR: 1.0
SNOW EXPOSURE FACTOR: 0.90
THERMAL FACTOR: 1.00

COow>

WIND LOAD:

oy

BASIC DESIGN WIND VELOCITY: 120 MPH
INTERNAL PRESSURE COEFFICIENTS: +/- 0.18

® >

~

SEISMIC LOAD:

DESIGN METHOD - EQUIVALENT LATERAL FORCE PROCEDURE
Ss - 0.086g

S1-0.051¢g

Sds - 0.092¢g

Sd1-0.081g

IMPORTANCE FACTOR: 1.0

SITE CLASS: D

BUILDING USE: C

SEISMIC RESPONSE COEFFICIENT: 0.090

SEISMIC FORCE RESISTING SYSTEM - ORDINARY STEEL FRAME
RESPONSE MODIFICATION COEFFICIENT: 3.5

DEFLECTION AMPLIFICATION FACTOR: 3.5

FXC~IEMMOUO®>

8. FUTURE LOADS:

A. UNLESS SPECIFICALLY NOTED, THERE ARE NO PROVISION MADE FOR
FUTURE FLOOR, ROOF, OR OTHER LOADS.

SLAB-ON-GRADE (IND)

A. CONCRETE SLABS TO BE 3000 PSI.

B. CONCRETE SLAB CONTROL JOINTS SHALL BE CUT INTO THE SLAB AT A
DEPTH OF 1/3 TIMES THE THICKNESS OF THE SLAB FIBER FOR FIBER
REINFORCED SLABS, 1/4 TIMES THE THICKNESS OF THE SLAB FOR ALL
OTHER SLABS USING CONVENTIONAL WET-CUT SAW, AND 1/5 TIMES THE
THICKNESS OF THE SLAB FOR ALL OTHER SLABS USING EARLY-ENTRY
DRY-CUT SAW. SLAB SHALL BE SAWCUT WITHIN 4 HOURS OF CONCRETE
PLACEMENT USING EARLY-ENTRY DRY-CUT SAW OR WITHIN 12 HOURS
USING WET-CUT SAW. MAXIMUM SPACING OF INTERIOR SLAB CONTROL
JOINTS. UNLESS NOTED OTHERWISE, SHALL BE 15'-0" (MAX.) IN EACH
DIRECTION. CONSTRUCTION OF CONTROL JOINTS SHALL BE SUCH THAT
THE AREA CONTAINED HAS A MAXIMUM RATIO OF LONG SIDE TO SHORT
SIDE OF 1.5 TO 1.0 OR AS SHOWN ON THE CONSTRUCTION DRAWINGS.

C. SLAB CONSTRUCTION JOINTS SHALL BE USED IN PLACE OF CONTROL
JOINTS WHERE NEEDED TO INTERRUPT A CONTINUOUS POUR. SLAB
CONSTRUCTION JOINTS SHALL BE DOWELED.

D. PLACEMENT OF WELDED WIRE REINFORCEMENT IN SLAB, WHERE
SPECIFIED, SHALL BE AT A CONSISTENT DEPTH OF 1 1/2" FROM T/SLAB.
WELDED WIRE REINFORCEMENT SHALL BE PROPERLY CHAIRED ABOVE
GRADE.

E. REFER TO ARCHITECTURAL, MECHANICAL, ELECTRICAL, AND PLUMBING
DOCUMENTS FOR SLAB FINISHES, SLAB DEPRESSIONS, THICKENED
SLABS (IN ADDITION TO THICKENED SLABS NOTED ON STRUCTURAL
DRAWINGS), ELEVATIONS, AND ENCASED OR EMBEDDED ITEMS.

F. PLUMBING AND ELECTRICAL CONDUITS SHALL BE PLACED BELOW THE
SLAB AND NOT WITHIN THE SLAB. VERTICAL PENETRATIONS ARE
ALLOWED.

G. COLUMN BOX-OUTS SHALL BE USED TO ISOLATE AN ADEQUATE AREA
AROUND COLUMN BASE PLATES TO PROVIDE FOR COLUMN PLACEMENT
AND LEVELING. BOX-OUTS ARE TO BE CLEAN AND FREE OF DEBRIS TO
TOP OF FOOTING PRIOR TO FILLING WITH CONCRETE.

CONCRETE NOTES:

MATERIALS:

1. THE MINIMUM ULTIMATE COMPRESSIVE STRENGTH OF CONCRETE SHALL BE 3000 PSI AT

28 DAYS UNLESS OTHERWISE SPECIFIED.

2. REINFORCING BARS SHALL BE DEFORMED STEEL AND SHALL CONFORM TO THE
REQUIREMENTS OF ASTM A615 GRADE 60, UNLESS OTHERWISE SPECIFIED.

3. PORTLAND CEMENT SHALL CONFORM TO THE REQUIREMENTS OF ASTM C150 TYPE II.
PORTLAND CEMENT SHALL BE USED IN THE MANUFACTURE OF ALL CONCRETE, UNLESS

OTHERWISE SPECIFIED ON THE DRAWINGS OR APPROVED BY THE ENGINEER. CONCRETE

MIX DESIGN SHALL BE APPROVED BY THE DESIGN ENGINEER.

4. AGGREGATE, BOTH COARSE AND FINE, USED IN THE MANUFACTURE OF CONCRETE
SHALL CONFORM TO THE REQUIREMENTS OF ASTM C33. THE MAXIMUM COARSE
AGGREGATE SIZE SHALL BE 1-1/2 INCHES.

5. ANCHOR BOLTS TO BE ASTM F1554 GR 55. ALL BOLTS TO BE HEADED.

6. ALL WELDED WIRE FABRIC SHALL CONFORM TO ASTM A185 AND SHALL BE SPLICED BY

LAPPING THE ENDS IN CONFORMANCE WITH ACI 318

CONCRETE PLACEMENT AND FINISHING

1. CONTRACTOR SHALL COORDINATE CONCRETE WORK WITH ARCHITECTURAL,
MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR AND ITEMS EMBEDDED IN
CONCRETE, BEFORE THE CONCRETE IS PLACED.

2. THE CONTRACTOR SHALL VERIFY ALL EXISTING CONDITIONS PRIOR TO CONSTRUCTION

BEGINNING. ALL INTERFERENCES SHALL BE BROUGHT TO THE ATTENTION OF THE
ENGINEER PRIOR TO WORK COMMENCING.

3. CONCRETE SHALL NOT BE PLACED BEFORE FORMWORK HAS BEEN COMPLETED; SNOW,
ICE, DEBRIS, AND WATER HAVE BEEN REMOVED; REINFORCEMENT HAS BEEN SECURED IN
PLACE; EXPANSION JOINT MATERIAL, ANCHORS, MOISTURE BARRIERS, WATERSTOPS AND
OTHER EMBEDDED ITEMS HAVE BEEN POSITIONED; AND THE ENTIRE PREPARATION HAS

BEEN INSPECTED AND APPROVED.

4. CONCRETE SHALL NOT BE PLACED:
A. ON FROZEN SUBGRADE OR ON ONE THAT CONTAINS FROZEN MATERIAL
B. IN STANDING WATER ON SUBGRADE OR IN EXCAVATIONS.
C. ON SOILS THAT HAVE BEEN DISTURBED BY RAINFALL OR SEEPAGE. IF THE
BEARING SOIL HAS BEEN SOFTENED BY SURFACE WATER INTRUSION DURING
EXPOSURE, THE UNSUITABLE SOILS SHALL BE REMOVED AND REPLACED.

5. CONCRETE PLACED IN COLD WEATHER SHALL CONFORM TO ACI 306.1

6. CONCRETE PLACED IN HOT WEATHER SHALL CONFORM TO ACI 305

7. CONCRETE COVERAGE SHALL BE AS FOLLOWS:

A. FORMED SURFACES FOR STRUCTURES NOT EXPOSED TO EARTH: 2 INCHES
B. UNFORMED SURFACES EXPOSED TO EARTH: 3 INCHES.

REINFORCEMENT NOTES:

1. WELDING OF REINFORCING STEEL SHALL NOT BE PERFORMED UNLESS APPROVED BY THE

DESIGN ENGINEER.

2. ALL BACKFILL AROUND THE FOUNDATION SHALL BE PERFORMED IN 6" LIFTS AND
THOROUGHLY COMPACTED to 95% PROCTER.

3. ALL EXPOSED CORNERS AND EDGES OF CONCRETE ABOVE GROUND SHALL BE
CHAMFERED 3/4" AT 45 DEGREES, UNLESS OTHERWISE SPECIFIED ON THE DRAWINGS.

4. ANY DISCREPANCIES, INTERFERENCES OR NONCONSTRUCTIBILITY FOUND BY THE
CONTRACTOR SHOULD BE BROUGHT TO THE ATTENTION OF THE ENGINEER PRIOR TO
CONSTRUCTION.

5. EMBEDMENT PLACEMENT TOLERANCES:
A. BEARING PLATE INSERTS: PLUS OR MINUS 1/8 INCH.

FINISHES:

BUILDING FLOOR SLABS: MACHINE TROWLED Ff=35 & F2=25 (LOCAL MIN. Ff=20 & FI=15)
FOUNDATION AND SURFACE TO BE GROUTED: ROUGH

EXPOSED WALLS AND SLAB EDGES: POINT AND RUB SMOOTH

WALKS AND RAMPS: LIGHT BROOM

FOUNDATION:

1. FOUNDATION DESIGN IS BASED ON AN ALLOWABLE SOIL BEARING PRESSURE OF 2,000 PSF.

2. THE SUBGRADE AND UNDERFLOOR FILL SHALL BE PREPARED TO A POINT THAT EXTENDS

3'-0" MINIMUM BEYOND THE LIMITS OF THE FOUNDATION.

3. MINIMUM SUBGRADE PREPARATION REQUIREMENTS ARE AS FOLLOWS: COMPACT ALL FILL

UNDER BUILDING TO 95% MAXIMUM DRY DENSITY, AND TOP 12" OF SUBGRADE TO 98% AS

DETERMINED BY ASTM D698. PLACE IN LAYERS OF 8" MAXIMUM LOOSE THICKNESS. VERIFY
FIELD DENSITY, ASTM D1556, WITH AT LEAST ONE TEST PER 2,000 SQUARE FEET PER LAYER.

SEE SPECIFICATIONS FOR OTHER TESTING REQUIREMENTS.

4. UTILITY LINES SHALL NOT BE PLACED THROUGH OR BELOW FOUNDATIONS WITHOUT
APPROVAL OF THE STRUCTURAL ENGINEER. CONTRACTOR SHALL SUBMIT DETAILED
DRAWINGS OF ALL SUCH CONDITIONS PRIOR TO CONSTRUCTION.

5. ALL BASEPLATES SHALL BE GROUTED

6. GROUT TO BE NON SHRINK FIVE STAR GROUT OR APPROVED EQUIVALENT

7. ALL ANCHOR BOLTS TO BE ASTM F1554 GR. 55.

STRUCTURAL STEEL NOTES:

MATERIALS AND CONSTRUCTION

ALL MATERIALS SHALL BE AS INDICATED BELOW UNLESS NOTED OTHERWISE ON
DESIGN DRAWINGS.

1. STRUCTURAL STEEL

EXPOSED CARBON STEEL SHALL BE FINISHED TO OWNER'S SPECIFICATION.
A. HSS SHAPES: ASTM A500, GRADE B (Fy= 46 KSI)
B. OTHER ROLLED SHAPES AND PLATES: ASTM A992 (Fy= 50 KSI MIN.)

2. BOLTS, NUTS, WASHERS, AND ROD (UNO)

A. STRUCTURAL BOLTS: ASTM A325; ALL NUTS, BOLTS, AND WASHERS TO BE
GALVANIZED

B. THREADED ROD: ASTM A193 GRADE B7 (FU= 125KSI)

C. NUTS: ASTM A563 HEAVY HEX GRADE DH

D. WASHERS: ASTM F436

E. ALL BOLTED CONNECTIONS SHALL HAVE DIRECT TENSION, INDICATING
WASHER BY APPLIED BOLTING OR APPROVED EQUIVALENT.

3. GRATING
A. ALL STEEL GRATING SHALL BE WELDED TYPE W-19-4 STEEL
GRATING WITH 11/4" X 1/8" BEARING BARS AS MANUFACTURED BY
GRATING PACIFIC INC. OR APPROVED EQUAL.
B. ALL STEEL GRATING SHALL BE HOT DIPPED GALVANIZED
C. ALL GRATING SHALL BE FULLY BANDED.

4. WELDING ELECTRODES
A. UTILIZE E70XX ELECTRODES IN ACCORDANCE WITH AWS D1.1
B. ALL FILLET WELDS SHALL BE 1/4" OR THE MAXIMUM ALLOWABLE SIZE
FOR THE MEMBERS BEING JOINED UNLESS NOTED OTHERWISE. ALL GROOVE

WELDS SHALL BE COMPLETE JOINT PENETRATION WELDS UNLESS NOTED OTHERWISE.

5. UNLESS SPECIFICALLY NOTED ALL STRUCTURAL CONNECTIONS SHALL BE
DESIGNED AS BEARING TYPE CONNECTIONS ABLE TO SUPPORT 1/2 THE ALLOWABLE
LOAD OF THE BEAM. ALL SHOP DRAWINGS AND CALCULATIONS SHALL BE SUBMITTED
FOR APPROVAL PRIOR TO FABRICATION

6. SHOP PAINT TO BE FABRICATORS STANDARD RUST INHIBITIVE GRAY PRIMER AT
AN AVERAGE OF 2 MILS DFT. FOR STRUCTURAL SHAPES PROVIDE SP 3 POWER TOOL
CLEAN SURFACE PREPARATION

7. ALL STRUCTURAL SHAPES SHALL HAVE 5 MIL OF SHERWIN WILLIAMS
ACROLON 218 HS LIGHT GRAY OR APPROVED EQUAL.

8. ALL DECKING FOR ROOF TO BE VULCRAFT 1.5 B 22

STRUCTURAL STABILITY

1. THE ERECTOR IS RESPONSIBLE FOR THE STABILITY OF THE STRUCTURES DURING
ERECTION. THE ERECTED STEEL SHALL BE ADEQUATELY BRACED TO RESIST DEAD,
ERECTION, CONSTRUCTION, AND WIND LOADS UNTIL IT IS PERMANENTLY
CONNECTED AND IS SELF-SUPPORTING.

2. TEMPORARY SUPPORT OF STRUCTURAL STEEL FRAMES SHALL BE IN ACCORDANCE
WITH THE REQUIREMENTS OF SECTION 7.9 OF THE AISC CODE OF STANDARD
PRACTICE FOR STEEL BUILDINGS AND BRIDGES.

3. THE BRACING SHOWN ON THE DRAWINGS HAS BEEN DESIGNED TO PROVIDE A
STABLE STRUCTURE UPON THE COMPLETION OF ERECTION. AS EACH LEVEL IS
ERECTED, THE PERMANENT BRACING SHOWN ON THE ENGINEER'S DRAWINGS IN
CONJUNCTION WITH THE FRAMING AT THAT LEVEL SHALL BE INSTALLED TO IMPROVE
THE STABILITY OF THE PARTIALLY ERECTED STRUCTURE.

4. THE ERECTOR SHALL DESIGN AND INSTALL ALL ADDITIONAL TEMPORARY BRACING
OR GUYING REQUIRED TO MEET LOADING IMPOSED DURING ERECTION, CONSISTENT
WITH THE ERECTION SEQUENCE USED, OR REQUIRED AT THE END OF ANY WORK
PERIOD TO ENSURE SAFE AND STABLE CONDITIONS. ADDITIONAL TEMPORARY
BRACING OF THIS NATURE PROVIDED BY THE ERECTOR SHALL BE REVIEWED WITH
THE ENGINEER. HOWEVER, THE ENGINEER'S REVIEW SHALL NOT RELIEVE THE
ERECTOR FROM FULL RESPONSIBILITY FOR THE STABILITY OF THE STRUCTURE
DURING ERECTION.

5. TEMPORARY STEEL BRACING AND ALIGNMENT CABLES INSTALLED PRIOR TO
PERMANENT BRACING MAY BE REMOVED AFTER MAIN MEMBERS AND BRACING HAVE
BEEN PERMANENTLY BOLTED. CARE SHOULD BE TAKEN IN WELDING COLUMNS TO
BASEPLATES TO PREVENT DISTORTION OF THE PLATES.

6. THE STRUCTURE SHALL BE PLUMBED, LEVELED, AND BRACED BEFORE FINAL
BOLTED OR WELDED CONNECTIONS ARE MADE.

FIELD CONNECTIONS AND ALIGNMENT
7. MAKE ALL FIELD CONNECTIONS AS DETAILED AND SPECIFIED ON THE
FABRICATOR'S SHOP AND ERECTION DRAWINGS.

8. THE PROCEDURE TO BE FOLLOWED WHEN TIGHTENING HIGH-STRENGTH BOLTS
AND THE CRITERIA FOR INSPECTING THE BOLTED CONNECTIONS THROUGHOUT THE
STRUCTURE SHALL BE AS SPECIFIED HEREIN UNDER 3.8.3, BOLTING PROCEDURE AND
3.8.4, INSPECTION OF HIGH-STRENGTH BOLTED CONNECTIONS.

9. BOLTS OR NUTS WHOSE THREADS HAVE BEEN VISIBLY DISTORTED SHALL NOT BE
USED. ASTM A490 BOLTS AND GALVANIZED ASTM A325 BOLTS SHALL NOT BE
REUSED. BOLTS WITH CORROSION PITTED THREADS SHALL NOT BE USED. MEASURES
SHALL BE TAKEN TO PROTECT ALL BOLTS FROM CORROSION DURING ERECTION.

10. ATTACHMENTS TO CONCRETE SHALL BE MADE IN THE MANNER SHOWN ON THE
DRAWINGS. WHERE DRILLED-IN ANCHORS ARE INDICATED ON THE DRAWINGS,
ANCHORS SUCH AS KWIK-BOLTS MANUFACTURED BY HILTI FASTENING SYSTEMS,
INC., OR APPROVED EQUAL, SHALL BE USED. THE DRILLED-IN ANCHORS SHALL BE
INSTALLED AS PER THE MANUFACTURER'S INSTRUCTIONS.

INSTALLATION

11. WHERE STRUCTURAL JOINTS ARE MADE USING HIGH-STRENGTH BOLT
ASSEMBLIES, THE MATERIALS, METHODS OF INSTALLATION, TENSION CONTROL,
TYPES OF WRENCHES TO BE USED, AND INSPECTION METHODS SHALL CONFORM TO
THE AISC SPECIFICATION AND SECTION 8 OF THE RCSC SPECIFICATION FOR
STRUCTURAL JOINTS USING ASTM A325 OR A490 BOLTS.

BOLTING PROCEDURE

12. STEEL, PRIOR TO BOLTING, SHALL BE INSPECTED TO SEE THAT THE
SURFACES ARE IN CLOSE CONTACT AND THAT THE AREAS ARE FREE FROM
BURRS.

13. WELDING OF OR TO HIGH-STRENGTH BOLTS IS PROHIBITED.

14. ALL JOINT SURFACES, INCLUDING THOSE ADJACENT TO THE BOLT HEADS,
NUTS OR WASHERS, SHALL BE INSPECTED PRIOR TO BOLTING TO SEE THAT
THE FAYING SURFACES ARE IN CLOSE CONTACT AND ARE FREE FROM BURRS,
DIRT AND OTHER FOREIGN MATERIALS THAT WOULD PREVENT SOLID SEATING
OF PARTS.

15. WHEN CONNECTIONS REQUIRE NEW HOLES IN EXISTING STEEL, THE
HOLES SHALL BE DRILLED OR PUNCHED AND REAMED AND THE DIAMETER OF

OF THE BOLT.

16. HIGH-STRENGTH BOLTS SHALL NEVER BE DRIVEN INTO THE HOLES. IF
BOLTS DO NOT ENTER EASILY, HOLES SHALL BE ALIGNED BY FURTHER
DRIFTING OR MODERATE REAMING. ANY BURRS SHALL BE REMOVED.

17. ALL EQUIPMENT USED FOR TIGHTENING BOLTS MUST BE IN GOOD
CONDITION. FOR TIGHTENING 7/8 INCH OR SMALLER BOLTS, THE AIR
PRESSURE AT THE POWER WRENCH, WHEN IT IS IN OPERATION, SHALL BE A
MINIMUM OF 90 PSIG AND THE REQUIRED TIGHTENING OF BOLTS SHALL BE
ACHIEVED IN APPROXIMATELY 10 SECONDS. FOR LARGER BOLTS, THE AIR
PRESSURE SHALL BE AS RECOMMENDED FOR THE POWER WRENCHES USED,
AND IT SHALL BE DEMONSTRATED THAT THE AIR PRESSURE IS ADEQUATE FOR
SATISFACTORY TENSIONING OF BOLTS.

18. ALL BOLTS IN ANY CONNECTION SHALL BE INSTALLED WITH ALL NUTS ON
THE SAME SIDE UNLESS INTERFERENCES WILL NOT PERMIT. FIELD
CONNECTIONS IN OTHER THAN A VERTICAL PLANE SHALL BE INSTALLED WITH
NUTS ON THE LOWER SIDE, EXCEPT FOR CONNECTIONS OF HORIZONTAL
PLATFORM BRACING NOT SUBJECT TO STRESS REVERSAL OR WHERE SPACE
RESTRICTIONS MAKE THIS IMPOSSIBLE.

19. IF USED, DIRECT TENSION INDICATION (DTI) WASHERS SHALL CONFORM
TO ASTM F959 AND SHALL BE INSTALLED ACCORDING TO THE
MANUFACTURER'S PUBLISHED SPECIFICATIONS.

20. WHEN IMPACT WRENCHES ARE USED, WRENCHES OF ADEQUATE CAPACITY
AND SUFFICIENT AIR SUPPLY SHALL BE PROVIDED TO PERFORM THE REQUIRED
TIGHTENING OF EACH BOLT.

21. ALL BOLTS SHALL BE 7/8-INCH DIAMETER, A325 HIGH-STRENGTH BOLTS
UNLESS OTHERWISE NOTED ON THE SHOP DRAWINGS, E

REACTION DRAWINGS, ENGINEERING DESIGN DRAWINGS, OR ANY OTHER
CONTRACT DOCUMENT.

22. MECHANICALLY GALVANIZED BOLTS AND NUTS SHALL NOT BE INTERMIXED
WITH HOT DIP GALVANIZED NUTS AND BOLTS.

23. WHERE A307 BOLT ASSEMBLIES ARE USED FOR CONNECTING
APPURTENANCES (I.E.: HANDRAIL ASSEMBLIES, PIPE SUPPORTS, GATES, ETC.)
TO STRUCTURAL STEEL MEMBERS, THE BOLTS SHALL BE FULLY TIGHTENED.

24. A490 BOLTS AND GALVANIZED A325 BOLTS SHALL NOT BE REUSED AFTER
HAVING BEEN FULLY TIGHTENED, NOR SHALL THEY BE USED AS FIT-UP BOLTS.

25. COLOR CODE, DIE PUNCH, OR OTHERWISE MARK THE ENDS OF TORQUED
BOLTS INDICATING THAT THE BOLTS HAVE BEEN PROPERLY TENSIONED AND
ARE READY FOR INSPECTION.

26. BOLTS WHICH ARE TO BE TIGHTENED ONLY TO A SNUG-TIGHT CONDITION
WILL BE CLEARLY INDICATED ON THE DRAWINGS.

27. BOLTS TO BE TIGHTENED BY THE TURN-OF-THE-NUT METHOD SHALL ALL
BE FIRST BROUGHT TO SNUG TIGHT CONDITION, IN A GIVEN CONNECTION,
PROCEEDING FROM THE MOST RIGID PART OF THE CONNECTION TO THE FREE
EDGE. AFTER ALL THE BOLTS ARE BROUGHT TO A SNUG TIGHT CONDITION,
THE BOLTS SHALL BE TIGHTENED FURTHER IN A SIMILAR MANNER BY THE
AMOUNT OF ROTATION SPECIFIED IN TABLE 5 OF THE RCSC SPECIFICATION.
BOLTS WITH A METRIC THREAD AND/OR DIAMETER MAY NOT BE TIGHTENED BY
THE TURN-OF-THE-NUT METHOD.

28. SIMILARLY, BOLTS TO BE TIGHTENED BY THE USE OF DTI WASHERS SHALL
ALL BE BROUGHT TO A SNUG TIGHT CONDITION IN A GIVEN CONNECTION.
FINAL TIGHTENING OF BOLTS SHALL FOLLOW THE INSTRUCTIONS OF THE
MANUFACTURER OF THE DTI WASHERS. SPECIAL ATTENTION SHALL BE GIVEN
TO PROPER INSTALLATION OF FLAT HARDENED WASHERS WHEN DIRECT DTI
WASHERS ARE USED WITH BOLTS INSTALLED IN SLOTTED OR OVERSIZED
HOLES AND ALSO WHEN THEY ARE USED UNDER THE TURNED ELEMENTS OF
THE BOLTS.

o)
© s
> X
o=
D_tQ_DLo
JDETE
nwoagy
rirz
O3Q
= =
O 3
< B
Y
|_

N

T
]

TS
=
-

e
(L

W |

L

XCHNI
HOL

(K44

GR

o

STRUCTURES + EQUIPMENT + COVERINGS

Merchney, LLC
7711 Liberty Highway
Liberty, SC 29657
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

permission of Merchney, LLC.

LZUENDT

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

RALILIELIV A

L4 7,
\““\*\OER F < (:’f’/,

............

*

%‘y
2% fig
o STATE OF JX

Digitally signed by Alexander Zuendt

o b
NG CENS Sy oY

. %) % E=azuendt@zuendtengineering.com,

% ~* % CN=Alexander Zuendt, O=Alexander
% '-:-_Zuendt, L=Greer, S=South Carolina,
=C=US
: - =Contact Info: This document is signed
= and sealed by Alexander F. Zuendt,
= PE. This document shall have the
. signature and seal verified and printed

copies are not valid.
Date: 2022.06.20 21:53:39-04'00'

Drawing Title:

GENERAL NOTES

Drawn By:

CMB

Date: 2021 0628

Revised:

Scale:

Sheet

S0.01



AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

troy_crews
Highlight

troy_crews
Highlight

troy_crews
review stamp


REAR
&) O <
EXISTING Cj
BUILDING
b
©
24" DIAVETER x 48" DEEP
CONCRETE PIER FOOTING (TYP) Cj
5
3
|
|
|
| 1
|
I
EJ
| t
— ) Lo
\24” DIAMETER x 48” DEEP
CONCRETE PIER FOOTING (TYP)
j‘ 4'-0 — 26'-0
FRONT % ¢
()
& 300"
o=

FOUNDATION PLAN

KEY PLAN

N

REF

4" 4" STEEL COLUMN

LA

(2) 1/2” x 6" HEX BOLT W/NUT

5/8" 6" WEDGE ANCHORS — 4 1/2” MIN. DEPTH

N

]
o
T
e
9 i I sl ¢ ° Y a4
T AT N
R CONCRETE SLAB
4 4 o o
” i EEA" » »
' PR < R 24" DIAMETER x 24" DEEP CONCRETE
24 § J 2 AR !IFH/ PIER FOOTING — MIN 3000 PSI
“ : {l———— STEEL REINFORCING - #4 @12" (6 VERTICAL)
T - W | STEEL REINFORCING — #4 STIRRUPS @ 12°0.C.
SRE | .
”
—— 2479 4‘

24" DEEP PIER / FOOTING

5359 WEST US HIGHWAY 90
FL 32055

TRACTOR SUPPLY CO.
LAKE CITY FL

&
A !

- -
/

i

LA
737

.|

]

O

!
STRUCTURES + EQUIPMENT * COVERINGS

e .
- [&]
r S§, el
1 28 Fry
~ 202 E
ST NS¢
0 >9 2
T w
C o - s
ez’
=
O-'gces
Sc2ts
~ - £
=" g
[=9

F L

L

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

ZUENDT

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

CONTRACTOR TO FIELD VERIFY ALL
EXISTING CONDITIONS

DO NOT SCALE DRAWINGS

S1.01

1/8"=1"-0"

A 1
\\\ \\\DER F ?O ,’/, Digitally signed by Alexander Zuendt

..........

*

STATE OF

.........

-,'@4/ '9 DN:

*."¢) + E=azuendt@zuendtengineering.com,
" “4’2. CN=Alexander Zuendt, O=Alexander
e '-'_-_Zuendt. L=Greer, S=South Carolina,
17 '=c=us
: =Contact Info: This document is signed
N E and sealed by Alexander F. Zuendt,
- ~ PE. This document shall have the

V“_-“\Q‘ .:7 signature and seal verified and printed
.

o . .
(G copies are not valid.

‘\\\\ Date: 2022.06.20 21:53:50-04'00"

Drawing Title:

FOUNDATION

Drawn By:

RGS

Sheet

Revised:

Dote: 2022.06.13 81 01

Scale: AS NOTED



AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
4"x 4" STEEL COLUMN

AutoCAD SHX Text
(2) 1/2" x 6" HEX BOLT W/NUT

AutoCAD SHX Text
24" DIAMETER x 24" DEEP CONCRETE  PIER FOOTING - MIN 3000 PSI

AutoCAD SHX Text
CONCRETE SLAB

AutoCAD SHX Text
STEEL REINFORCING - #4 @12" (6 VERTICAL)

AutoCAD SHX Text
STEEL REINFORCING - #4 STIRRUPS @ 12"O.C.

AutoCAD SHX Text
5/8"x 6" WEDGE ANCHORS - 4 1/2" MIN. DEPTH

AutoCAD SHX Text
FACE OF WALL

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
24" DIAMETER x 48" DEEP  CONCRETE PIER FOOTING (TYP) 

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
24" DIAMETER x 48" DEEP  CONCRETE PIER FOOTING (TYP) 

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L


SECOND COLUMN [ 7
FROM FRONT

1"'-11"

FRONT COLUMN [~

REAR

EXISTING
BUILDING

FRONT END TRUSS & SECOND TRUSS FROM THE FRONT
END ARE SPACED 11'—11" INSIDE FACE TO INSIDE FACE
[APPLIES TO FRONT END ONLY ]

[REAR FACE OF 2" BOTTOM CHORD
FLUSH WITH REAR FACE OF COLUMN]

SECOND TRUSS FROM FRONT

1"'-11"

FRONT TRUSS

[FRONT FACE OF 2" BOTTOM CHORD
FLUSH WITH FRONT FACE OF COLUMN]

FACE OF BLOCK WALL

COLUMN ROW [xx]

FACE OF BLOCK WALL

$2.01

’—C‘—r

$2.01

COLUMN ROW [YY]

w COLUMN ROW

-~
N

1 END

AM

r CQ\
(TYP) STEEL COLUMN: HSS4x4x12 GA

11-11"

COLUMN ROW

W10X19 STEEL T’

RAISED CABLE "X BRACING

I (TYP) UNLESS OTHERWISE NOTED

120"

COLUMN ROW

®

RAISED CABLE X’ BRACING

6'-0"

COLUMN ROW

T
®

—_

RAISED CABLE "X BRACING

65'-10"

120"

COLUMN ROW

/

RAISED CABLE "X BRACING

120"

COLUMN ROW

40"

26'-0"

(TYP) §TEEL TRUSS

11-11"

COLUMN ROW

YY

COLUMN ROW Y]

’—%

300"

COLUMN ROW [xx]

XX

’—Li‘r

1

(END WALL CORNER)

o o o o
o o o o
o o0 o o
(SIDEWALL)

o O o o
(ROTATED)

o o o o
o o o o

(END WALL CORNER)

(END WALL CORNER)

/1 (TYP.) COLUMN MOUNTING PLATES

$1.02

12 GA

(TvP) o
E

o O
AT GREENHOUSE END
& FEED ROOM END
REFER TO STRUCTURAL PLAN

o O SHEET $1.02

O O
AT SIDEWALL COLUMNS, INSIDE
COLUMNS, EXTERIOR COLUMNS
AT DRIVE THRU CANOPY &
FACADE GABLES

o O
REFER TO STRUCTURAL PLAN
SHEET $1.02

(ROTATED)

o o AT GREENHOUSE END
& FEED ROOM END
REFER TO STRUCTURAL PLAN
SHEET $1.02

o O

(END WALL CORNER)
12" DiaM HOLE
11.75 975
17 WAL " WALL

USE WHERE A SINGLE 24°
TRUSS LANDS ON CENTER OF
|-BEAM

K" DIAM HOLE\

SHEAR PLATES ARE OFFSET TO DICTATE WHICH
SIDE " I " BEAMS ARE TO BE MOUNTED

15 DIAM HOLE——_
9.75

" WALL

PLATE THRU SLOT IN COLUMN
WELDED AT BOTH SIDES OF
COLUMN

PLATE THRU SLOT IN COLUMN

°© WELDED AT BOTH SIDES OF

(TYP) COLUMN: HSS4x4x12 GA

/3, (TYP.) COLUMN TYPES

COLUMN

USE WHERE (2) 24" TRUSSES
OR 32’ TRUSS LANDS ON
CENTER OF I-BEAM

STRUCTURAL PLAN

NOTE:

CONTRACTOR TO FIELD CUT:

o COLUMNS

o 14 PURLINS BEFORE INTERMEDIATE WALL
o REAR-END PURLINS

o INTERMEDIATE WALL FRAMING

o END-WALL FRAMING

AS REQUIRED PER DRAWINGS

o 2 4 g

1/8°=1-0"

TRACTOR SUPPLY CO.
LAKE CITY FL

5359 WEST US HIGHWAY 90
FL 32055

£
F L

£
i
v I‘. il

)

HOTL
STRUCTURES + EQUIPMENT * COVERINGS

‘”r
J

N

)
~ .
O30 54
=) .
o020 )
-TNES
>0 8
c Lt W=
c 0 - z°
0O QO > =
ST 52
) o @
=T Qo =E
~ = &

N

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

(864) 990-2803

CIVIL & STRUCTURAL ENGINEERING
(864) 990-2995 F

P.O. Box 26177, Greenville, SC 29616 P

LLLLELIT
N\DER_F 2.’3;,

e -
SORIEENE o

vy Digitally signed by Alexander Zuendt
DN:

L -.O ~, E=azuendt@zuendtengineering.com,
IS No 81552 - = CN=Alexander Zuendt, O=Alexander
- et e '-'_-_Zuendt, L=Greer, S=South Carolina,
=" 17 '=c=us
_=_ - i * . @ =Contact Info: This document is signed
= J /3> = and sealed by Alexander F. Zuendt,
1% ., STATE OF . 45"'5 PE. This document shall have the

- o A . Q « signature and seal verified and printed
%6\-.(09\0.-\\ . lid
AN A _.-‘\(‘9 ' copies are not vali - -
I,' JONA\.E\\\“ Date: 2022.06.20 21:53:58-04'00
gyt
Drawing Title:
Drawn By: Sheet
pate: 2022.06.13 81 02
n
Revised:
Scale: AS NOTED



AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
CONTRACTOR TO FIELD CUT: COLUMNS 14' PURLINS BEFORE INTERMEDIATE WALL REAR-END PURLINS INTERMEDIATE WALL FRAMING END-WALL FRAMING AS REQUIRED PER DRAWINGS

AutoCAD SHX Text
9.75

AutoCAD SHX Text
11.75

AutoCAD SHX Text
9.75

AutoCAD SHX Text
11.75

AutoCAD SHX Text
1316" DIAM HOLE

AutoCAD SHX Text
1316" DIAM HOLE

AutoCAD SHX Text
1316" DIAM HOLE

AutoCAD SHX Text
1316" DIAM HOLE

AutoCAD SHX Text
1316" DIAM HOLE

AutoCAD SHX Text
12 GA

AutoCAD SHX Text
(TYP)

AutoCAD SHX Text
14" WALL

AutoCAD SHX Text
USE WHERE A SINGLE 24' TRUSS LANDS ON CENTER OF I-BEAM

AutoCAD SHX Text
14" WALL

AutoCAD SHX Text
PLATE THRU SLOT IN COLUMN WELDED AT BOTH SIDES OF COLUMN

AutoCAD SHX Text
14" WALL

AutoCAD SHX Text
14" WALL

AutoCAD SHX Text
PLATE THRU SLOT IN COLUMN WELDED AT BOTH SIDES OF COLUMN

AutoCAD SHX Text
USE WHERE (2) 24' TRUSSES OR 32' TRUSS LANDS ON CENTER OF I-BEAM

AutoCAD SHX Text
(TYP) COLUMN: HSS4x4x12 GA

AutoCAD SHX Text
AT GREENHOUSE END & FEED ROOM END REFER TO STRUCTURAL PLAN 

AutoCAD SHX Text
AT SIDEWALL COLUMNS, INSIDE COLUMNS, EXTERIOR COLUMNS AT DRIVE THRU CANOPY & FACADE GABLES REFER TO STRUCTURAL PLAN 

AutoCAD SHX Text
SHEAR PLATES ARE OFFSET TO DICTATE WHICH SIDE " I " BEAMS ARE TO BE MOUNTED

AutoCAD SHX Text
AT GREENHOUSE END & FEED ROOM END REFER TO STRUCTURAL PLAN 

AutoCAD SHX Text
(END WALL CORNER)

AutoCAD SHX Text
(ROTATED)

AutoCAD SHX Text
(ROTATED)

AutoCAD SHX Text
(END WALL CORNER)

AutoCAD SHX Text
(END WALL CORNER)

AutoCAD SHX Text
(END WALL CORNER)

AutoCAD SHX Text
(SIDEWALL)

AutoCAD SHX Text
(TYP)	 UNLESS OTHERWISE NOTED UNLESS OTHERWISE NOTED

AutoCAD SHX Text
FACE OF BLOCK WALL

AutoCAD SHX Text
FACE OF BLOCK WALL

AutoCAD SHX Text
COLUMN ROW XX

AutoCAD SHX Text
COLUMN ROW YY

AutoCAD SHX Text
COLUMN ROW  01

AutoCAD SHX Text
COLUMN ROW  02

AutoCAD SHX Text
COLUMN ROW  03

AutoCAD SHX Text
COLUMN ROW  04

AutoCAD SHX Text
COLUMN ROW  05

AutoCAD SHX Text
COLUMN ROW  06

AutoCAD SHX Text
RAISED CABLE 'X' BRACING 

AutoCAD SHX Text
(TYP) STEEL COLUMN: HSS4x4x12 GA

AutoCAD SHX Text
(TYP) STEEL TRUSS

AutoCAD SHX Text
COLUMN ROW XX

AutoCAD SHX Text
COLUMN ROW YY

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
W10X19 STEEL 'I' BEAM 1 END

AutoCAD SHX Text
RAISED CABLE 'X' BRACING 

AutoCAD SHX Text
FRONT END TRUSS & SECOND TRUSS FROM THE FRONT END ARE SPACED 11'-11" INSIDE FACE TO INSIDE FACE INSIDE FACE TO INSIDE FACE  TO INSIDE FACE INSIDE FACE [APPLIES TO FRONT END ONLY ]]

AutoCAD SHX Text
SECOND TRUSS FROM FRONT

AutoCAD SHX Text
FRONT COLUMN

AutoCAD SHX Text
SECOND COLUMN FROM FRONT

AutoCAD SHX Text
FRONT TRUSS

AutoCAD SHX Text
[FRONT FACE OF 2" BOTTOM CHORD  FLUSH WITH FRONT FACE OF COLUMN]

AutoCAD SHX Text
[REAR FACE OF 2" BOTTOM CHORD  FLUSH WITH REAR FACE OF COLUMN]

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
RAISED CABLE 'X' BRACING 

AutoCAD SHX Text
RAISED CABLE 'X' BRACING 

AutoCAD SHX Text
COLUMN ROW  07

AutoCAD SHX Text
W10X19 STEEL 'I' BEAM 1 END


o\ /o]
R

7

5359 WEST US HIGHWAY 90
FL 32055

REAR

RN A
/" 55 c

N
TRACTOR SUPPLY CO.
LAKE CITY FL

- s
° q 0281[Q oNe]<e
o [o o DK | |o|Lo{ }‘0)|o| . o 0olo]| oo m
! 39 1/16* \C/

26 PINNACLE TRUSS
0-9Ib Snow Load

£
)

QUSE

permission of Merchney, LLC.

WEB A 84 15/16, 15GA o
WEB B 57 7/16, 156A | ‘ ]
WEB C 55 5/16, 156A | ;-Q >
WEB D 38 78, 156A TG D00RS ' | - 0 Eb
WEB_E 25 1/2, 156A I " = 5§
UPPER CHORD SAME DIMENSION, 166 5/8, 15GA EXISTING j s LT 529
E. LOWER CHORD {109 3/8, 15GA BUILDING | X f , £8 .
l. LOWER CHORD 80 15/16, 15GA l. ., g f E
PURLINS 7 RUNS, 15GA, 48 SPACE | m < 5
COLUMNS 12GA | | N

—

/5, TRUSS PROFILE |

S3.01/° GREENHOUSE

A
STRUCTURES + EQUIPVIENT + COVERINGS

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

— E—]

EXISTING DOORS

EXISTING DOOR

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

INTERMEDIATE PURLINS REAR [END] PURLINS
FRONT [END] PURLINS THRU—-OUT FIELD CUT TO LENGTH
2 — e ) ————————— - J L —  —
N - ™~ D
SPLICE SPLICE FRONT N
f ni i i f i i
FRONT REAR

/“a\ (TYP.) PURLIN LENGTH SEQUENCE - GREENHOUSE ONLY

S3.01 . e
N ¢,
\\\\ ‘P\\\\DE:.R. & F ?O f’/, Digitally signed by Alexander Zuendt
S {CENG 2y, DN o
- N & *."¢) + E=azuendt@zuendtengineering.com,
IS No 81552 - = CN=Alexander Zuendt, O=Alexander
_—"_‘ * 0 % '-'_-_Zuendt, L=Greer, S=South Carolina,
=T * 17 =c=Us
=g i =Contact Info: This document is signed
= J /3> = and sealed by Alexander F. Zuendt,
1’% - fTATE OF . L"'r‘:? PE. This document shall have the
. Rl oo -
*,’4\6\ e oR\ ) \:\ \I%'c signature and se?ldvernfled and printed
2 Co YR (&  [copiesare not valid.

Date: 2022.06.20 21:54:04-04'00

Drawing Title:

EQUIPMENT

Drawn By: Sheet

RGS

EQUIPMENT PLAN 55 Date: 2022.06.13
oy o S1.03

Scale: AS NOTED



AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
GREENHOUSE

AutoCAD SHX Text
FRONT [END] PURLINS 23'

AutoCAD SHX Text
INTERMEDIATE PURLINS THRU-OUT 24'

AutoCAD SHX Text
SPLICE

AutoCAD SHX Text
SPLICE

AutoCAD SHX Text
REAR [END] PURLINS FIELD CUT TO LENGTH X

AutoCAD SHX Text
EXISTING DOORS

AutoCAD SHX Text
26' PINNACLE TRUSS

AutoCAD SHX Text
0-9lb Snow Load

AutoCAD SHX Text
UPPER CHORD

AutoCAD SHX Text
E. LOWER CHORD

AutoCAD SHX Text
PURLINS

AutoCAD SHX Text
COLUMNS

AutoCAD SHX Text
SAME DIMENSION, 166 5/8, 15GA

AutoCAD SHX Text
7 RUNS, 15GA, 48 SPACE

AutoCAD SHX Text
109 3/8, 15GA

AutoCAD SHX Text
38 78, 15GA

AutoCAD SHX Text
WEB D

AutoCAD SHX Text
WEB A

AutoCAD SHX Text
55 5/16, 15GA

AutoCAD SHX Text
57 7/16, 15GA

AutoCAD SHX Text
84 15/16, 15GA

AutoCAD SHX Text
WEB B

AutoCAD SHX Text
WEB E

AutoCAD SHX Text
WEB C

AutoCAD SHX Text
25 1/2, 15GA

AutoCAD SHX Text
12GA

AutoCAD SHX Text
I. LOWER CHORD

AutoCAD SHX Text
80 15/16, 15GA

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
44 1/2"

AutoCAD SHX Text
94 5/8"

AutoCAD SHX Text
145 5/8"

AutoCAD SHX Text
48 3/16"

AutoCAD SHX Text
94 9/16"

AutoCAD SHX Text
142 9/16"

AutoCAD SHX Text
39 1/16"

AutoCAD SHX Text
TYPICAL FOR BOTH SIDES

AutoCAD SHX Text
TYPICAL FOR BOTH SIDES

AutoCAD SHX Text
EXISTING DOORS

AutoCAD SHX Text
EXISTING DOOR


REAR

FPA HURRICANE IMPACT—-RESISTANT 16MM 'CLEAR’
POLYCARBONATE PANELS & EXTRUSIONS
AT FACE OF GABLE END

2"x2" STEEL END-WALL
BRACING @ HEIGHT OF

BOTTOM CHORD OF TRUSSES \

EXISTING
BUILDING

REFER TO SHEET 85.05
FOR REAR INTERIOR
CROSSOVER
DOWNSPQOUT DETAILS

REFER TO:

PN

\ ROOF CABLE 'X" BRACING

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE’

POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

TRUSS CONNECTION
WELDMENT

NOTE:

THE STRUCTURE / PROPERTY.

REFER TO ROOF PLAN

1/81.04 FOR LOCATIONS

END TRUSS
CONNECTION FLAT
END-WELDMENT [EW]

THE FLAT SIDE OF ALL END TRUSS FLAT
END—-WELDMENTS [EW] ARE TO FACE THE EXTERIOR OF

NOTE:

THE FLAT SIDE OF ALL END WELDMENTS [EW] ARE TO
FACE THE EXTERIOR OF THE STRUCTURE / PROPERTY.

REFER TO ON PLAN

NOTE:

THE HEAD END OF ALL BOLTS [B] ARE TO FACE THE FRONT
EXTERIOR OF THE STRUCTURE / PROPERTY. THE NUT END OF
ALL BOLTS [B] IS TO FACE THE REAR OF THE STRUCTURE /
PROPERTY. ALL BOLTS [B] TO BE CONSISTENTLY INSTALLED IN
THIS DIRECTION WITH THE EXCEPTION OF THE END TRUSSES
AT THE REAROF THE STRUCTURE, END TRUSS AT REAR OF
DRIVE-THRU CANOPY, & REAR OF FACADE GABLES — WHERE
THE DIRECTION IS TO BE REVERSED (HEADS OF BOLTS [B]
FACING TO THE REAR)

A\

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
—— POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

27x2" STEEL END-WALL
BRACING @ HEIGHT OF

<

, A

:

[SLOPE 1" DROP PER 12 FT]
STEEL GUTTER / REFER TO DETAIL

BOTTOM CHORD OF TRUSSES/

COANT

FRUNI

\ ROOF CABLE "X’ BRACING

12" END GUTTER

10
$3.00

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

(T
REFER TO ON PLAN

[ET]

\V

B B BOLT [B]
DIRECTION

Al

W

CONDITION 'A' (TYP)

FLAT END—WELDMENT [EW]
DIRECTION

CONDITION 'AA'

WELDMENT ORIENTATION

L‘\EXISTING PARAPET WALL &

CONTRACTOR TO PROVIDE 6" HIGH SMOOTH ]
GROUND SURFACE AT EXISTING CMU WALL FOR\ COPING
ANGLE TIE—IN FLASHING TO ATTACH. PROVIDE TIE-IN FLASHING — ATTACH w/ O
SINGLE CONTINUOUS STRIP OF BUTYL TAPE \"\I DRIVE=PIN ANCHORS @ 18" 0.C.
©
(2) VERTICAL A36 2'x2"x12" STRUCTURAL STEEL—_| 2"x2" PURLIN / BRACKET
ANGLES w/ SIMPSON STRONG—TIE TITEN HD, 1/2” —5 [PLACE CLOSE TO TOP]

DIAMETER x 4" LONG CMU SCREW ANCHOR
-3 1/2" EMBED

POLYCARBONATE
ROOF PANELS

°8 o/

o
\_/U°

ooNo| 0 ]|oloo

\ WELDMENT

NOTE: A 6/12 PITCH IS IDEAL. TRY NOT
TO EXCEED,AND DO NOT INSTALL
IN THE FLAT POSITION.

o

3/8"x3 1/2" HEX BOLTS

(2) VERTICAL A36 2"x2"x12" STRUCTURAL/
STEEL ANGLES w/ SIMPSON STRONG-TIE TITEN
HD, 1/2" DIAMETER x 4" LONG CMU SCREW
ANCHOR -3 1/2" EMBED

1/2"x3" HEX BOLTS

EXISTING WALL SS1

[

o |

hN

2"x2" TUBE
STEEL FRAMING

w\ 4'-0" SECTION / SIDEWALL TIE-IN TO EXISTING WALL

1/2x3 1/2" HEX BOLT

w/ FLAT WASHER ON
EACH SIDE OF SLOT.

- TIE-IN, ADJUSTABLE
TRUSS EAVE PLATE

4"x4" STEEL COLUMN

FLAT END—WELDMENT [EW]
DIRECTION

BOLT [B]
DIRECTION

RIDGE PURLIN

RIDGE FLASHING CAP w/BASE ATTACHED TO PURLIN

#12 X 1 1/2" DRILL POINT SCREW w/ NEOPRENE WASHER

NOTE:

POLYCARBONATE SHEETS ARE SHIPPED WITH A
PROTECTIVE COVERING LAYER ON EACH SIDE.

GLAZING EXTRUSIONS STOP AT OFFSET, POLYCARBONATE
SHEET EXTENDS BEYOND

ROOF PC SHEET
w/GLAZING EXTRUSIONS SPLICER

THESE MUST BE PEELED / REMOVED PRIOR TO
INSTALLATION.

(TYP.) POLYCARBONATE RIDGE CAP
[GH w/ NO RIDGE VENT ASSEMBLY]

/o, DETAIL

BEFORE REMOVING THIS PROTECTIVE LAYER -
CONTRACTOR MUST MARK THE SIDE WHICH
BEARS PRINTED LABEL - AS THIS SIDE MUST
FACE OUTWARD WHEN INSTALLED.

SLO4) AT GREENHOUSE ROOF

/7, ROOF PLAN

S1.04 1/8"=1'~0"

TRACTOR SUPPLY CO.

LAKE CITY FL
5359 WEST US HIGHWAY 90
FL 32055

JOUSE

Tq
L

EREN

L5
5

N

A
STRUCTURES + EQUIPVIENT + COVERINGS

permission of Merchney, LLC.

T
N~
T
9Ew
090
. I N
o >0
ol )
0 .
o2 >
625
=< Qo
~ =

N

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

LZUENDT

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

............

*

A B "

NSRSy
X No 81552
!
(o)

]

1k

)
STATE OF
&

Digitally signed by Alexander Zuendt
DN:

+, E=azuendt@zuendtengineering.com,
" “4’2. CN=Alexander Zuendt, O=Alexander
'-:-_Zuendt, L=Greer, S=South Carolina,
=C=US
=Contact Info: This document is signed
= and sealed by Alexander F. Zuendt,
s 2L § PE. This document shall have the

P - S
”, 6\@"-‘..‘?&‘.9-”0\ &

signature and seal verified and printed
copies are not valid.
Date: 2022.06.20 21:54:11-04'00'

Drawing Title:
ROOF
Drawn By: Sheet
RGS
Date: 2022.06.13 S 1 04
Revised: .
Scale: AS NOTED



AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
THE HEAD END OF ALL BOLTS [B] ARE TO FACE THE FRONT EXTERIOR OF THE STRUCTURE / PROPERTY. THE NUT END OF ALL BOLTS [B] IS TO FACE THE REAR OF THE STRUCTURE / PROPERTY. ALL BOLTS [B] TO BE CONSISTENTLY INSTALLED IN THIS DIRECTION WITH THE EXCEPTION OF THE END TRUSSES AT THE REAR OF THE STRUCTURE, END TRUSS AT REAR OF OF THE STRUCTURE, END TRUSS AT REAR OF AT REAR OF  CANOPY, & REAR OF FACADE GABLES - WHERE THE DIRECTION IS TO BE REVERSED (HEADS OF BOLTS [B] FACING TO THE REAR)

AutoCAD SHX Text
THE FLAT SIDE OF ALL END WELDMENTS [EW] ARE TO FACE THE EXTERIOR OF THE STRUCTURE / PROPERTY. 

AutoCAD SHX Text
REFER TO  TO 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
ON PLAN

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
REFER TO  TO 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
ON PLAN

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
BOLT [B] DIRECTION

AutoCAD SHX Text
FLAT END-WELDMENT [EW] DIRECTION

AutoCAD SHX Text
EW 

AutoCAD SHX Text
B 

AutoCAD SHX Text
FLAT END-WELDMENT [EW] DIRECTION

AutoCAD SHX Text
BOLT [B] DIRECTION

AutoCAD SHX Text
REFER TO ROOF PLAN   TO ROOF PLAN   FOR LOCATIONS

AutoCAD SHX Text
THE FLAT SIDE OF ALL END TRUSS FLAT END-WELDMENTS [EW] ARE TO FACE THE EXTERIOR OF THE STRUCTURE / PROPERTY. 

AutoCAD SHX Text
EXTERIOR

AutoCAD SHX Text
RIDGE PURLIN

AutoCAD SHX Text
RIDGE FLASHING CAP w/BASE ATTACHED TO PURLIN

AutoCAD SHX Text
#12 X 1 1/2" DRILL POINT SCREW w/ NEOPRENE WASHER

AutoCAD SHX Text
ROOF PC SHEET  w/GLAZING EXTRUSIONS SPLICER

AutoCAD SHX Text
GLAZING EXTRUSIONS STOP AT OFFSET, POLYCARBONATE SHEET EXTENDS BEYOND

AutoCAD SHX Text
AT GREENHOUSE ROOF

AutoCAD SHX Text
WELDMENT

AutoCAD SHX Text
4"x4" STEEL COLUMN

AutoCAD SHX Text
TIE-IN, ADJUSTABLE TRUSS EAVE PLATE

AutoCAD SHX Text
1/2"x3" HEX BOLTS

AutoCAD SHX Text
1/2"x3 1/2" HEX BOLT  w/ FLAT WASHER ON  EACH SIDE OF SLOT.

AutoCAD SHX Text
POLYCARBONATE  ROOF PANELS

AutoCAD SHX Text
2"x2" PURLIN / BRACKET [PLACE CLOSE TO TOP]

AutoCAD SHX Text
TIE-IN FLASHING - ATTACH w/ DRIVE-PIN ANCHORS @ 18" O.C.

AutoCAD SHX Text
EXISTING PARAPET WALL & COPING

AutoCAD SHX Text
6"

AutoCAD SHX Text
CONTRACTOR TO PROVIDE 6" HIGH SMOOTH GROUND SURFACE AT EXISTING CMU WALL FOR ANGLE TIE-IN FLASHING TO ATTACH. PROVIDE SINGLE CONTINUOUS STRIP OF BUTYL TAPE

AutoCAD SHX Text
(2) VERTICAL A36 2"x2"x12" STRUCTURAL STEEL ANGLES w/ SIMPSON STRONG-TIE TITEN HD, 1/2" DIAMETER x 4" LONG CMU SCREW ANCHOR -3 1/2" EMBED

AutoCAD SHX Text
(2) VERTICAL A36 2"x2"x12" STRUCTURAL STEEL ANGLES w/ SIMPSON STRONG-TIE TITEN HD, 1/2" DIAMETER x 4" LONG CMU SCREW ANCHOR -3 1/2" EMBED

AutoCAD SHX Text
NOTE: A 6/12 PITCH IS IDEAL. TRY NOT  A 6/12 PITCH IS IDEAL. TRY NOT TO EXCEED,AND DO NOT INSTALL  IN THE FLAT POSITION.

AutoCAD SHX Text
2"x2" TUBE  STEEL FRAMING

AutoCAD SHX Text
EXISTING WALL

AutoCAD SHX Text
3/8"x3 1/2" HEX BOLTS

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
STEEL GUTTER / REFER TO DETAIL

AutoCAD SHX Text
[SLOPE 1'' DROP PER 12 FT]

AutoCAD SHX Text
12' END GUTTER

AutoCAD SHX Text
ROOF CABLE 'X' BRACING

AutoCAD SHX Text
B 

AutoCAD SHX Text
EW 

AutoCAD SHX Text
14' END GUTTER

AutoCAD SHX Text
ROOF CABLE 'X' BRACING

AutoCAD SHX Text
2"x2" STEEL END-WALL  BRACING @ HEIGHT OF  BOTTOM CHORD OF TRUSSES

AutoCAD SHX Text
2"x2" STEEL END-WALL  BRACING @ HEIGHT OF  BOTTOM CHORD OF TRUSSES

AutoCAD SHX Text
REFER TO SHEET S5.05   TO SHEET S5.05  FOR REAR INTERIOR  CROSSOVER DOWNSPOUT DETAILS

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'CLEAR' POLYCARBONATE PANELS & EXTRUSIONS AT FACE OF GABLE END

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF


NOTE:

POLYCARBONATE SHEETS ARE SHIPPED WITH A
PROTECTIVE COVERING LAYER ON EACH SIDE.

THESE MUST BE PEELED / REMOVED PRIOR TO
INSTALLATION.

BEFORE REMOVING THIS PROTECTIVE LAYER -
CONTRACTOR MUST MARK THE SIDE WHICH
BEARS PRINTED LABEL - AS THIS SIDE MUST
FACE OUTWARD WHEN INSTALLED.

1

ELEVATION / FRONT GABLE END VIEW

/

FPA HURRICANE IMPACT—RESISTANT 16MM CLEAR'
POLYCARBONATE PANELS & EXTRUSIONS
AT GABLE END FACE

o @ TRUSS BEARING

— & o

R I B

FACE OF BLOCK WALL

COLUMN ROW [XX]

COLUMN ROW[YY]

2

1/8"=1-0"

ELEVATION / REAR GABLE END VIEW

FPA HURRICANE IMPACT—RESISTANT 16MM 'CLEAR’
POLYCARBONATE PANELS & EXTRUSIONS
AT GABLE END FACE

TRUSS BEARING ez

FINISH SLAB

=
(REVERSED)

COLUMN ROW[YY]

FACE OF BLOCK WALL

COLUMN ROW [xX]

3

1/8"=1'-0"

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

ROOF CABLE X—-BRACING

TRUSS BEARING

TRUSS

N

WELDMENT——

$3.00

16'- 8 1/2"

COLUMN

FRONT

RAISED CABLE "X’
BRACING

EXTERIOR ELEVATION / SIDE VIEW 'YY'

RAISED CABLE "X’
BRACING

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

BACK OVER ENTIRE LENGTH OF BUILDING —
1"FALLPER 12 FT*

/GUTTER DRAINAGE SLOPE — FROM FRONT TO

Truss Bearing @

16' - 3"
AT COLUMN ROW [Xx]
REFER T0:

e FRONT ELEVATION
o REAR ELEVATION
e STRUCTURAL PLAN

SLAB

COLUMN ROW (07D
8
=
(]
0
-

coLuMn Row (06)

COLUMN Row (0% [

=
3]

65'-10"

COLUMN Row (04

COLUMN Row (03

COLUMN Row (02 E
=

COLUMN Row (0D [

0| _ 0"

E

NOTE:

GUTTER DRAINAGE SLOPE — FROM FRONT OF
STRUCTURE (HIGH END) TO REAR (LOW END)
OVER ENTIRE LENGTH OF BUILDING — 1"FALL
PER12FT*

(TYP)REAR TRUSS BEARING HEIGHT (LOW
END) IS 16™-3"PER TSC MINIMUM INTERIOR
CLEARANCE HEIGHT

CONTRACTOR TO FIELD COORDINATE &
VERIFY ACTUAL FRONT TRUSS BEARING
HEIGHT.

NOTE:

TRUSS BEARING HEIGHT AT COLUMNXX-01 IS THE
LEVEL (LOWPOQINT) OF THE BOTTOM CHORDS OF
ALL TRUSSES. THIS LEVEL IS CONSISTENT — FROM
COLUMN ROW XX TO YY AND FROM COLUMN ROW
01 TO FRONT END

COLUMN HEIGHTS (STARTING AT COLUMN XX-01) FROM
COLUMN ROW XX TO YY AND FROM COLUMN ROW
01 TO FRONT END ARE TO BE FIELD VERIFIED AND
FIELD COORDINATED AS PER SLOPE OF GRADE AT
SITE OF PROJECT.

THE ABOVE NOTE APPLIES TO ALL COLUMNS
(ZA=77) AT DRIVE-THRU CANOPY & FACADE BAYS.

COLUMNS ARE SHIPPED TO SITE IN UNIFORM
LENGTH — CONTRACTOR TO FIELD CUT TO
REQUIRED LENGTH / HEIGHT PER DRAWINGS

NOTE:
REFER TO STRUCTURAL PLAN SHEET S1.02 FOR
LOCATION OF FULL HEIGHT CABLE 'X' BRACING AND
RAISED CABLE "X’ BRACING

(0

1/8"=1"-0"

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

ROOF CABLE X—-BRACING

TRUSS \

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE'
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

BACK OVER ENTIRE LENGTH OF BUILDING -
1"FALLPER 12 FT*

/GUTTER DRAINAGE SLOPE — FROM FRONT TO

| i {83l | | N _
WELDMENT\
TRUSS BEARING - ~ ~ Truss Bearing
@ ,,,,,,,,,,,,,,,,,,,,,,, e 7= e i o e PRI f@,
16'- 8 1/2" ’ i 16'- 3"
- STEEL BEAM STEEL BEAM
AT COLUMN ROW [Xx]
REFER TO:
COLUMN
o FRONT ELEVATION
SASED CABLE ¥ Ryp— ¢ REAR ELEVATION
FRONT EXISTING DOORS BEYOND BRACING CABLE X' ¢ STRUCTURAL PLAN REAR
BRACING
S FINISH SLAB ! FINISH SLAB
T T T B T < - ] Ty v *
B 0-0
= = = = = = =
(=) [} (=) [} (=) (=) (=)
(o oz (o a5y (o (o (o
= = = = = = =
= = = = = = =
oD oD oD oD oD oD oD
] > ] > ] ] ]
(b] (&) (b] (&) (b] (b] (b]
65'-10"

BUILDING SECTION 'XX'

o 2 4

$2.01

1/8"=1'-0"

g

TRACTOR SUPPLY CO.
LAKE CITY FL

5359 WEST US HIGHWAY 90
FL 32055

§
‘“‘d":'lﬂ £
'r-:l-" 5
L..JE £
— ‘=
Fﬁl:l: £
o= L 2
- g
£
h:’!l:l' -
O
_— g
T'= g
| (5]
i = s
3’&"2 O > -5
4 JEREG
—£8_%
= =If8Eg
o 2:283%
— - "l
=) S5€¢8s
X J c-2%¢
N~
m 2" ==
>
.. 1;1
o
va =
LLI -
o E
) g
el
— 2
| O .
o
o
r
=
_ £
D c
™
o
o 0]
'
&
o~
-
0
A

CIVIL & STRUCTURAL ENGINEERING
(864)990-2995 F

P.O. Box 26177, Greenville, SC 29616 P

‘\‘“ullnn“”

WOERLE 2

&
0, ,f'f ONAL E‘\\‘\\“

f)
f’/, Digitally signed by Alexander Zuendt

ST CEN g%, N
SGNCENS 2

2 E=azuendt@zuendtengineering.com,

T No 81552 -~ = CN=Alexander Zuendt, O=Alexander
* 0 e = Zuendt, L=Greer, S=South Carolina,
: * 1 Sc=us
- i @ =Contact Info: This document is signed
'-_ *1;; = and sealed by Alexander F. Zuendt,
% ., STATE OF . 42,”5 PE. This document shall have the
EAIRE v‘..‘.%{:' signature and seal verified and printed

A copies are not valid.
Date: 2022.06.20 21:54:18-04'00'

Drawing Title:
ELEVATIONS
Drawn By: Sheet
RGS
Date: 2022.06.13 82 O 1
Revised: .
Scale: 1/8" = 1"0"



AutoCAD SHX Text
REFER TO STRUCTURAL PLAN SHEET S1.02 FOR LOCATION OF FULL HEIGHT CABLE 'X' BRACING AND RAISED CABLE 'X' BRACING

AutoCAD SHX Text
NOTE: GUTTER DRAINAGE SLOPE - FROM FRONT OF STRUCTURE (HIGH END) TO REAR (LOW END) OVER ENTIRE LENGTH OF BUILDING - 1" FALL REAR TRUSS BEARING HEIGHT (LOW END) IS 16'-3" PER TSC MINIMUM INTERIOR PER TSC MINIMUM INTERIOR CLEARANCE HEIGHT CONTRACTOR TO FIELD COORDINATE & VERIFY ACTUAL FRONT TRUSS BEARING HEIGHT.

AutoCAD SHX Text
COLUMNS ARE SHIPPED TO SITE IN UNIFORM LENGTH - CONTRACTOR TO FIELD CUT TO REQUIRED LENGTH / HEIGHT PER DRAWINGS

AutoCAD SHX Text
TRUSS BEARING HEIGHT AT COLUMN XX - 01 IS THE  IS THE LEVEL (LOW POINT) OF THE BOTTOM CHORDS OF ) OF THE BOTTOM CHORDS OF ALL TRUSSES. THIS LEVEL IS CONSISTENT - FROM COLUMN ROW XX TO YY AND FROM COLUMN ROW 01 TO FRONT END  COLUMN HEIGHTS (STARTING AT COLUMN XX-01) FROM ) FROM COLUMN ROW XX TO YY AND FROM COLUMN ROW 01 TO FRONT END ARE TO BE FIELD VERIFIED AND FIELD COORDINATED AS PER SLOPE OF GRADE AT SITE OF PROJECT. THE ABOVE NOTE APPLIES TO ALL COLUMNS  (ZA-ZZ) AT DRIVE-THRU CANOPY & FACADE BAYS.

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
FACE OF BLOCK WALL

AutoCAD SHX Text
COLUMN ROW XX

AutoCAD SHX Text
COLUMN ROW YY

AutoCAD SHX Text
6

AutoCAD SHX Text
12

AutoCAD SHX Text
COLUMN ROW  07

AutoCAD SHX Text
CONCRETE  SLAB

AutoCAD SHX Text
TRUSS

AutoCAD SHX Text
WELDMENT

AutoCAD SHX Text
COLUMN

AutoCAD SHX Text
GUTTER DRAINAGE SLOPE - FROM FRONT TO BACK OVER ENTIRE LENGTH OF BUILDING - 

AutoCAD SHX Text
AT COLUMN ROW XX

AutoCAD SHX Text
REFER TO: FRONT ELEVATION REAR ELEVATION STRUCTURAL PLAN

AutoCAD SHX Text
COLUMN ROW  01

AutoCAD SHX Text
FACE OF BLOCK WALL

AutoCAD SHX Text
COLUMN ROW XX

AutoCAD SHX Text
COLUMN ROW YY

AutoCAD SHX Text
(REVERSED)

AutoCAD SHX Text
 YY

AutoCAD SHX Text
 YY

AutoCAD SHX Text
 YY

AutoCAD SHX Text
 YY

AutoCAD SHX Text
 YY

AutoCAD SHX Text
 YY

AutoCAD SHX Text
COLUMN ROW  02

AutoCAD SHX Text
COLUMN ROW  03

AutoCAD SHX Text
COLUMN ROW  05

AutoCAD SHX Text
COLUMN ROW  06

AutoCAD SHX Text
6

AutoCAD SHX Text
12

AutoCAD SHX Text
ROOF CABLE X-BRACING

AutoCAD SHX Text
RAISED CABLE 'X'  BRACING

AutoCAD SHX Text
RAISED CABLE 'X'  BRACING

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'CLEAR' POLYCARBONATE PANELS & EXTRUSIONS AT GABLE END FACE

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'CLEAR' POLYCARBONATE PANELS & EXTRUSIONS AT GABLE END FACE

AutoCAD SHX Text
COLUMN ROW  04

AutoCAD SHX Text
 YY

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
COLUMN ROW  07

AutoCAD SHX Text
TRUSS

AutoCAD SHX Text
WELDMENT

AutoCAD SHX Text
COLUMN

AutoCAD SHX Text
GUTTER DRAINAGE SLOPE - FROM FRONT TO BACK OVER ENTIRE LENGTH OF BUILDING - 

AutoCAD SHX Text
AT COLUMN ROW XX

AutoCAD SHX Text
REFER TO: FRONT ELEVATION REAR ELEVATION STRUCTURAL PLAN

AutoCAD SHX Text
COLUMN ROW  01

AutoCAD SHX Text
 XX

AutoCAD SHX Text
COLUMN ROW  02

AutoCAD SHX Text
COLUMN ROW  03

AutoCAD SHX Text
COLUMN ROW  05

AutoCAD SHX Text
COLUMN ROW  06

AutoCAD SHX Text
ROOF CABLE X-BRACING

AutoCAD SHX Text
RAISED CABLE 'X'  BRACING

AutoCAD SHX Text
COLUMN ROW  04

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
 XX

AutoCAD SHX Text
 XX

AutoCAD SHX Text
 XX

AutoCAD SHX Text
 XX

AutoCAD SHX Text
 XX

AutoCAD SHX Text
 XX

AutoCAD SHX Text
RAISED  CABLE 'X'  BRACING

AutoCAD SHX Text
STEEL BEAM 

AutoCAD SHX Text
EXISTING DOORS BEYOND

AutoCAD SHX Text
STEEL BEAM 


2"x 2" STEEL TUBE UPPER TRUSS CHORD

14 GA. GALVANIZED STEEL GUTTER
[SLOPE 1" DROP BETWEEN EACH COLUMN]

5/16" X 1" CARRIAGE BOLT w/ BLACK PVC

2" 2" STEEL TUBE LOWER TRUSS CHORD WASHER ABOVE & STEEL WASHER w/ NUT BELOW

(4 /GUTTER /CASTING /ASSEMBLY)

L GALVANIZED WELDMENT
1/2" x 3" HEX BOLT w/NUT (6) 1/4" WALL THICKNESS
10 GA. GALVANIZED STEEL

CASTING / TRUSS PLATE (2)

3/4" x 6" GRADE 5 HEX BOLT w/ NUT

4" 4" x 12 CA.
GALVANIZED STEEL COLUMN

DETAIL s
NOT TO SCALE @

NOTE:

BOLT THRU 1" DIAMETER BLACK PLASTIC WASHER

(w/ SQUARE CENTER) FROM TOP DOWN AT EVERY

= /3/8” DIAMETER HOLE HOLE — DO NOT OVER-TIGHTEN

O 10

TIGHTEN BOLTS AT BOTTOM FIRST — THEN TIGHTEN
SIDES

/STEEL GUTTER SPLICE PLATE

SILICONE TOP OF BOLTS ONLY — DO NOT REMOVE
EXCESS — ALLOW TO DRY

>5 STRIPS BUTYL TAPE AT EACH SIDE
& BETWEEN BOLTS

010

STEEL GUTTER SPLICE PLATE

5 STRIPS BUTYL TAPE AT EACH SIDE
& BETWEEN BOLTS

PLAN VIEW

ISOMETRIC VIEW

GUTTER SPLICE PLATE :

NOT TO SCALE

3

2"x 2" STEEL TUBE ROOF PURLIN

PURLIN ATTACHMENT ANGLE

1/2" x 3" GRADE 5 3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (2)

HEX BOLT W/NUT (4)
10 GA. GALVANIZED STEFL
PEAK TRUSS PLATE

3/8" x 2 3/4” GRADE 5 HEX BOLT w/NUT (2)

2% 2” STEEL TUBE WEB MEMBERS .
2" 2” STEEL TUBE WEB MEMBERS

DETAIL N
NOT TO SCALE @

DETAIL N
NOT TO SCALE @

2"x 2" STEEL TUBE WEB MEMBERS

3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (3)

2"x 2" STEEL TUBE LOWER TRUSS CHORD

o o o
~ |poloo]

1/2"x 3" HEX BOLT w/NUT (4)

3—HOLE CHORD / WEB CONNECTOR
SPLICER

DETAIL :

NOT TO SCALE

#12 x 11/27 SS DRILL POINT
SCREWS ON 18" CENTERS |

2" 2" STEEL TUBE UPPER TRUSS CHORD

#14 x 17 DRILL POINT SCREWS (4)

2"x 2" STEEL TUBE ROOF PURLIN

#14 x 17 SCREWS

2—HOLE CHORD/WEB CONNECTOR SPLICER

1R
10

3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (1)

2"x 2" STEEL TUBE WEB MEMBER

DETAIL

#14 x 1" DRILL POINT SCREWS (2)

#14 x 1" SCREWS

2"x 2" STEEL TUBE UPPER TRUSS CHORD

1-HOLE CHORD/WEB CONNECTOR SPLICER

NOT TO SCALE

NEOPRENE BONDED WASHER

#12 x 1 1/2" SS TEK

POLY-CARBONATE ROOFING PANEL\

APPLY BEAD OF CLEAR SILICONE CAULK
BETWEEN LIP OF GUTTER AND POLYCARBONATE END

CAP / 16MM J—CHANNEL

USE BLACK POLY WASHERS w/ SQUARE CENTER
HOLE @ SCREWS INSIDE GUTTER.

ZINC WASHERS ARE ONLY TO BE USED BELOW @
CONNECTION TO WELDMENT. [NO ZINC WASHERS TO
BE USED AT SPLICE]

NOTE:

SCREWS TO BE USED TO ATTACH 16MM
POLY—CARBONATE PANELS AND J-CHANNEL TO
GUTTER TO BE #12X1 1/2 STAINLESS STEEL

FILL / SEAL ALL HOLES IF SCREWS ARE REMOVED
FOR GLAZING

DETAIL :

NOT TO SCALE

#12 x 1 1/27 SS DRILL POINT SCREW
W/NEOPRENE BONDED WASHER

d | 18" | FPA APPROVED EXTRUSION

N
[e°]

GLAZING SYSTEM

16 MM J—CHANNEL

16 MM J—CHANNEL

PROVIDE 5/16" diam THRU-HOLE WEEP
FOR DRAINAGE @ 18" OC

33"1 /8" FLASHING \

16MM POLYCARBONATE PANELS — MUST BE
PRE-DRILLED BEFORE SCREW INSTALLATION

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE’
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF
il Tee—
|

é g 5 g Ny
7 [ I f I [ [ %
FPA HURRICANE IMPACT-RESISTANT 16MM "CLEAR \ \ \
POLYCARBONATE PANELS & EXTRUSIONS
AT GABLE END FACES \ 1/4” THICK ADHESIVE
i RUBBER POLYCARBONATE
T3 116 2%2°x166A PURLIN  SUPPORT WASHER
ALUMINUM ANGLE 2z
REF TO DETAL: (i)
ENDWALL UPPER CHORD
EACH 6 WIDE POLYCARBONATE SHEET / ROOF PANEL
10 RECENE:
POLYCARBONATE (4) SCREWS PER PURLIN
(3) NEOPRENE WASHERS
DETAIL (3) POLYCARBONATE SUPPORT SPACERS
10

NOT TO SCALE

TRACTOR SUPPLY CO.

LAKE CITY FL
5359 WEST US HIGHWAY 90
FL 32055

8
S
F‘-M gt .ﬁ-% :ch
L] 2
— 2
rf) oo E
e L 2
k—“"'_:.':- g
®
O g
— 3
(5]
= b :
3"&"2 O x> -5
o | N~ 2 7
L 28 E 5
.98 £
= T Vo8
Q. 2283%
= £ 2252
—J oZx:s
OTIE g
IR
>
-l g;
o
v 2
LL] P
oc E
- g
el
— 2
=) :
[
=
73 =
=
o™
o
o 0]
el
>
o~
<
0
o

CIVIL & STRUCTURAL ENGINEERING
(864) 990-2995 F

P.O. Box 26177, Greenville, SC 29616 P

“\\'IHIIHIH,

\‘\‘ \\\DE.F} 5 .F‘ <: 'f;,’

SO CEN s,
3 Q/.‘ N\ {3‘ ., O"
T XS No 81552

: *

Digitally signed by Alexander Zuendt
DN:

~, E=azuendt@zuendtengineering.com,
= CN=Alexander Zuendt, O=Alexander
* '-'_-_Zuendt. L=Greer, S=South Carolina,
17 =c=Us

ey

copies are not valid.
Date: 2022.06.20 21:54:25-04'00'

Drawing Title:

DETAILS

Drawn By:

RGS

Sheet

Revised:

Date: 20220613

S3.00

Scale: AS NOTED



AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
STEEL GUTTER SPLICE PLATE

AutoCAD SHX Text
5 STRIPS BUTYL TAPE AT EACH SIDE  & BETWEEN BOLTS

AutoCAD SHX Text
BOLT THRU 1" DIAMETER BLACK PLASTIC WASHER (w/ SQUARE CENTER) FROM TOP DOWN AT EVERY HOLE - DO NOT OVER-TIGHTEN TIGHTEN BOLTS AT BOTTOM FIRST - THEN TIGHTEN SIDES SILICONE TOP OF BOLTS ONLY - DO NOT REMOVE EXCESS - ALLOW TO DRY

AutoCAD SHX Text
STEEL GUTTER SPLICE PLATE

AutoCAD SHX Text
5 STRIPS BUTYL TAPE AT EACH SIDE  & BETWEEN BOLTS

AutoCAD SHX Text
3/8" DIAMETER HOLE

AutoCAD SHX Text
4"x 4" x 12 GA.  GALVANIZED STEEL COLUMN

AutoCAD SHX Text
10 GA. GALVANIZED STEEL  CASTING / TRUSS PLATE (2)

AutoCAD SHX Text
2"x 2" STEEL TUBE LOWER TRUSS CHORD

AutoCAD SHX Text
1/2"x 3" HEX BOLT w/NUT (4)

AutoCAD SHX Text
GALVANIZED WELDMENT

AutoCAD SHX Text
1/4" WALL THICKNESS

AutoCAD SHX Text
3/4" x 6" GRADE 5 HEX BOLT w/ NUT

AutoCAD SHX Text
5/16" X 1" CARRIAGE BOLT w/ BLACK PVC WASHER ABOVE & STEEL WASHER w/ NUT BELOW 

AutoCAD SHX Text
(4/GUTTER/CASTING/ASSEMBLY)

AutoCAD SHX Text
1/2" x 3" HEX BOLT w/NUT (6)

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
2"x 2" STEEL TUBE UPPER TRUSS CHORD

AutoCAD SHX Text
2"x 2" STEEL TUBE WEB MEMBERS

AutoCAD SHX Text
2"x 2" STEEL TUBE LOWER TRUSS CHORD

AutoCAD SHX Text
3-HOLE CHORD / WEB CONNECTOR SPLICER

AutoCAD SHX Text
14 GA. GALVANIZED STEEL GUTTER

AutoCAD SHX Text
[SLOPE 1'' DROP BETWEEN EACH COLUMN]

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
SCREWS TO BE USED TO ATTACH 16MM POLY-CARBONATE PANELS AND J-CHANNEL TO GUTTER TO BE #12X1 1/2 STAINLESS STEEL FILL / SEAL ALL HOLES IF SCREWS ARE REMOVED FOR GLAZING

AutoCAD SHX Text
POLY-CARBONATE ROOFING PANEL

AutoCAD SHX Text
APPLY BEAD OF CLEAR SILICONE CAULK  BETWEEN LIP OF GUTTER AND POLYCARBONATE END CAP / 16MM J-CHANNEL 

AutoCAD SHX Text
16 MM J-CHANNEL

AutoCAD SHX Text
GUTTER

AutoCAD SHX Text
USE BLACK P0LY WASHERS w/ SQUARE CENTER HOLE @ SCREWS INSIDE GUTTER.   GUTTER.  ZINC WASHERS ARE ONLY TO BE USED BELOW @  TO BE USED BELOW @ CONNECTION TO WELDMENT. [NO ZINC WASHERS TO BE USED AT SPLICE]

AutoCAD SHX Text
16 MM J-CHANNEL

AutoCAD SHX Text
3" x 3" x 1/16"  x 3" x 1/16"   3" x 1/16"  x 1/16"   1/16"  ALUMINUM ANGLE

AutoCAD SHX Text
3"x3"x1/8" FLASHING

AutoCAD SHX Text
#12 x 1 1/2" SS DRILL POINT  SCREWS ON 18" CENTERS

AutoCAD SHX Text
1/4" THICK ADHESIVE  RUBBER POLYCARBONATE SUPPORT WASHER

AutoCAD SHX Text
2"x2"x16GA PURLINx16GA PURLIN16GA PURLIN

AutoCAD SHX Text
18"

AutoCAD SHX Text
18"

AutoCAD SHX Text
#12 x 1 1/2" SS DRILL POINT SCREW x 1 1/2" SS DRILL POINT SCREW  1 1/2" SS DRILL POINT SCREW W/NEOPRENE BONDED WASHER

AutoCAD SHX Text
18"

AutoCAD SHX Text
ENDWALL UPPER CHORD

AutoCAD SHX Text
18"

AutoCAD SHX Text
FPA APPROVED EXTRUSION GLAZING SYSTEM

AutoCAD SHX Text
EACH 6' WIDE POLYCARBONATE SHEET / ROOF PANEL  TO RECEIVE: (4) SCREWS PER PURLIN  (3) NEOPRENE WASHERS   (3) POLYCARBONATE SUPPORT SPACERS 

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
REF TO DETAIL:

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
#12 x 1 1/2" SS TEK

AutoCAD SHX Text
NEOPRENE BONDED WASHER

AutoCAD SHX Text
16MM POLYCARBONATE PANELS - MUST BE PRE-DRILLED BEFORE SCREW INSTALLATION

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'CLEAR' POLYCARBONATE PANELS & EXTRUSIONS AT GABLE END FACES

AutoCAD SHX Text
3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (2)

AutoCAD SHX Text
10 GA. GALVANIZED STEEL  PEAK TRUSS PLATE

AutoCAD SHX Text
#14 x 1" DRILL POINT SCREWS (4)

AutoCAD SHX Text
2-HOLE CHORD/WEB CONNECTOR SPLICER

AutoCAD SHX Text
1/2" x 3" GRADE 5

AutoCAD SHX Text
HEX BOLT W/NUT (4)

AutoCAD SHX Text
2"x 2" STEEL TUBE ROOF PURLIN

AutoCAD SHX Text
2"x 2" STEEL TUBE WEB MEMBERS

AutoCAD SHX Text
2"x 2" STEEL TUBE UPPER TRUSS CHORD

AutoCAD SHX Text
2"x 2" STEEL TUBE ROOF PURLIN

AutoCAD SHX Text
2"x 2" STEEL TUBE WEB MEMBERS

AutoCAD SHX Text
#14 x 1" DRILL POINT SCREWS (2)

AutoCAD SHX Text
2"x 2" STEEL TUBE WEB MEMBER

AutoCAD SHX Text
1-HOLE CHORD/WEB CONNECTOR SPLICER

AutoCAD SHX Text
#14 x 1" SCREWS 

AutoCAD SHX Text
#14 x 1" SCREWS 

AutoCAD SHX Text
2"x 2" STEEL TUBE UPPER TRUSS CHORD

AutoCAD SHX Text
PURLIN ATTACHMENT ANGLE

AutoCAD SHX Text
3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (2)

AutoCAD SHX Text
3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (1)

AutoCAD SHX Text
3/8" x 2 3/4" GRADE 5 HEX BOLT w/NUT (3)


1/4” COLUMN (1)

RAISED CABLE X BRACING / CABLE BRACKETS
BOLT THRU COLUMN w/ 1/2"x 5" HEX BOLT

I (TOP OF COLUMN)

[l

I—BEAM (2)
(INTERMEDIATE)

1/4” COLUNN (2)

[VIN]

1/4” COLUMN (1)

1/4" COLUMN (2)

DETAIL

SLOPE OF GROUND AND TRUE COLUMN HEIGHT NOT INCLUDED IN THIS DRAWING

NOT TO SCALE

11.75

!(1.8125-Q

—4.00

DETAIL

NOT TO SCALE

DOWNHILL
4" SQ COLUMN STuB
G 25"
N

MAKE SURE TO CUT EXTRA HOLE INTO

BOTTOM CENTER OF COLUMN STUB FOR
HOT GALVANIZING VENT.

DETAIL

NOT TO SCALE

.

E
11.75
o
[o]

1/4" COLUMN (1)
(END)
NOTE:

(TYP) COLUMN: HSS4x4x12 GA

- SHEAR PLATE IS 2" HIGHER, TO ACCOUNT
- FOR SLOPE IN GUTTER, BUT ALSO
] ALLOWING 1-BEAM TO STAY LEVEL

9.75

1/4” COLUMN (2)
(INTERMEDIATE)

COLUMNS SUPPORTING ” 1" BEAMS AT FOQT TRAFFIC AREAS

ARE 1/4" THICKNESS
REFER TO STRUCTURAL PLAN

SHEETS §1.02 / $2.01 FOR LOCATIONS

DETAIL

NOT TO SCALE

NOTE:

DO NOT USE TEK SCREWS

DRILL 7/16" HOLE THROUGH

BOTH SIDES OF BRACE BAND

AND COLUMN. USE 3/8" x 5"
HEX BOLT TO ATTACH BRACE

BANDS TO COLUMN

TURNBUCKLE

DETAIL -

NOT TO SCALE

SHEAR PLATES ARE OFFSET TO DICTATE WHICH
SIDE "I " BEAMS ARE TO BE MOUNTED

¢O.4375\4. 138.25 ]
1.00(TYP) SHff Knee V1 (2"sq 11g)
(V1 is used when column spacing is 143" on center)
(End)
¢0'4375\~L 139.25 ]

1.00 ]
Stiff Knee V2 (2"sq 11g)
(V2 is used when column spacing is 144" on center)
(Intermediate)

W10x## 1-Beam —

1/2" Sheer Plate, Welded to Column
3/4" Grade 8 Flat Washer, 2° OD————— \

3/4°x 2" Grade 8 Hex Bol .

NOTE:

REFER TO STRUCTURAL PLAN SHEET 51.02 FOR
LOCATION OF STEEL COLUMNS & STEEL BEAMS

WELD X ON TOP OF [-BEAM ON SHORT SIDE FOR EASY
IDENTIFICATION OF V1 AND SHORT SIDE OF V1

N /

Par—

WELDMENT

ATTACHMENT ANGLE -
ATTACH w 1/2x 5"

HEX BOLT

QUICK LINK

- / 282.50
3/4" Grade 8 Flat Washer, 2" OD 138.75 H 139.75
3/4" DTl Squirt Washer .
\ | 3/4” Grade 8 Flat Washer, 1.5” OD \*B(EAM)(W)
END
3/4" Grade 8 Hex Nut 28350
139.75 H 139.75
THIS SIDE TO FACE INTERIOR OF SPACE FOR
GREATER VISIBILITY / ACCESS
L 1 |-BEAM (2)
(INTERMEDIATE) a
1 I ** Be sure to apply Magna—Lube, w
—To entire bolt threads.
—Before washers are added.
~This helps to prevent galling
1 1 between the nut and bolt.
-
DETAIL N
NOT TO SCALE \83.02/
T6MM GLAZING CAP
(HOLES MUST BE PRE-DRILLED PRIOR TO
INSTALLATION)
#10 x 7/8”" TRILOBULAR GAP
16MM POLYCARBONATE
16MM GLAZING BASE #12 x 1 1/2" SELF TAPPING
(HOLES MUST BE PRE-DRILLED BEFORE FLAT HEAD SCREW
INSTALLATION)

#HPOLYCARBONATE SHEETS AND EXTRUSIONS MUST BE
PRE-DRILLED PRIOR TO SCREW INSTALLATION.

DETAIL ™

NOT TO SCALE

FPA HURRICANE IMPACT—RESISTANT 16MM "WHITE’ T
POLYCARBONATE ROOF PANELS & EXTRUSIONS
AT GREENHOUSE ROOF

POLYCARBONATE SUPPORT WASHER
USE ONLY FOR SCREWS ATTACHING PC
TO BRACKETS NOT FOR GLAZING H

2" x 2" STEEL PURLINS

2" x 2" TOP CHORD OF

ROOF TRUSS
ROOF SECTION
GREENHOUSE
DETAIL s
NOT TO SCALE §3.03

TRACTOR SUPPLY CO.

LAKE CITY FL
5359 WEST US HIGHWAY 90
FL 32055

£
L

OUSE

s

A
STRUCTURES + EQUIPVIENT + COVERINGS

Merchney, LLC
7711 Liberty Highway
Liberty, SC 29657
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

permission of Merchney, LLC.

ZUENDT

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

NOTE: SHEET S$3.01 DOES NOT
APPLY TO THIS PROJECT AND
HAS BEEN REMOVED FROM THE
SET

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

LLLLELIT
“‘“D R F 41, 4, - ;
\\\ ‘PX\ ______ ‘-‘20 (A Digitally signed by Alexander Zuendt
SN CENS; .6‘,‘;’3 DN:

3&." M % %, E=azuendt@zuendtengineering.com,
IS No 81552 - = CN=Alexander Zuendt, O=Alexander
_—"_‘ * 0 e '-'_-_Zuendt, L=Greer, S=South Carolina,
=T o 17 =c=us
= ‘ @« :Co;tactllnéot; Thils docgment is si%ned
o *{;; = and sealed by Alexander F. Zuendt,
1% ., STATE OF 45"'5 PE. This document shall have the

’*, < =~ signature and seal verified and printed

copies are not valid.
Date: 2022.06.20 21:54:33-04'00'

Drawing Title:
DETAILS
Drawn By: Sheet
RGS
Date: 2022.06.13 83 02
Revised: .
Scale: AS NOTED



AutoCAD SHX Text
Sheet

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
2" x 2" STEEL PURLINS

AutoCAD SHX Text
2" x 2" TOP CHORD OF ROOF TRUSS

AutoCAD SHX Text
POLYCARBONATE SUPPORT WASHER USE ONLY FOR SCREWS ATTACHING PC   FOR SCREWS ATTACHING PC  TO BRACKETS NOT FOR GLAZING H FOR GLAZING H

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
REFER TO STRUCTURAL PLAN   TO STRUCTURAL PLAN  SHEETS S1.02 / S2.01 FOR LOCATIONS / S2.01 FOR LOCATIONS FOR LOCATIONS

AutoCAD SHX Text
(TYP) COLUMN: HSS4x4x12 GA COLUMNS SUPPORTING " I " BEAMS AT FOOT TRAFFIC AREAS " BEAMS AT FOOT TRAFFIC AREAS ARE 1/4" THICKNESS 

AutoCAD SHX Text
I-BEAM (1)

AutoCAD SHX Text
4" SQ COLUMN STUB

AutoCAD SHX Text
.25"

AutoCAD SHX Text
.25"

AutoCAD SHX Text
I-BEAM (1)

AutoCAD SHX Text
I-BEAM (2)

AutoCAD SHX Text
NOTE:  :  MAKE SURE TO CUT EXTRA HOLE INTO  BOTTOM CENTER OF COLUMN STUB FOR  HOT GALVANIZING VENT.

AutoCAD SHX Text
282.50

AutoCAD SHX Text
139.75

AutoCAD SHX Text
138.75

AutoCAD SHX Text
283.50

AutoCAD SHX Text
139.75

AutoCAD SHX Text
139.75

AutoCAD SHX Text
1/4" COLUMN (2)

AutoCAD SHX Text
1/4" COLUMN (1)

AutoCAD SHX Text
1/4" COLUMN (2)

AutoCAD SHX Text
SLOPE OF GROUND AND TRUE COLUMN HEIGHT NOT INCLUDED IN THIS DRAWING

AutoCAD SHX Text
DOWNHILL

AutoCAD SHX Text
I-BEAM (2)

AutoCAD SHX Text
11.75

AutoCAD SHX Text
 0.8125

AutoCAD SHX Text
1.50

AutoCAD SHX Text
4.50

AutoCAD SHX Text
6.00

AutoCAD SHX Text
1.00

AutoCAD SHX Text
4.00

AutoCAD SHX Text
0.2500

AutoCAD SHX Text
NOTE: : DO NOT USE TEK SCREWS DRILL 7/16" HOLE THROUGH  BOTH SIDES OF BRACE BAND  AND COLUMN. USE 3/8" x 5"  HEX BOLT TO ATTACH BRACE  BANDS TO COLUMN

AutoCAD SHX Text
1/4" COLUMN (1)

AutoCAD SHX Text
9.75

AutoCAD SHX Text
139.25

AutoCAD SHX Text
138.25

AutoCAD SHX Text
(END)

AutoCAD SHX Text
(INTERMEDIATE)

AutoCAD SHX Text
1/4" COLUMN (1)

AutoCAD SHX Text
1/4" COLUMN (2)

AutoCAD SHX Text
1.00

AutoCAD SHX Text
(TYP)

AutoCAD SHX Text
 0.4375

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
TURNBUCKLE

AutoCAD SHX Text
SHEAR PLATE IS 2" HIGHER, TO ACCOUNT FOR SLOPE IN GUTTER, BUT ALSO ALLOWING I-BEAM TO STAY LEVEL

AutoCAD SHX Text
Stiff Knee V2 (2"sq 11g) (V2 is used when column spacing is 144" on center) (Intermediate)

AutoCAD SHX Text
Stiff Knee V1 (2"sq 11g) (V1 is used when column spacing is 143" on center) (End)

AutoCAD SHX Text
WELD X ON TOP OF I-BEAM ON SHORT SIDE FOR EASY  ON TOP OF I-BEAM ON SHORT SIDE FOR EASY IDENTIFICATION OF V1 AND SHORT SIDE OF V1

AutoCAD SHX Text
1.00

AutoCAD SHX Text
 0.4375

AutoCAD SHX Text
RAISED CABLE X BRACING / CABLE BRACKETS  BOLT THRU COLUMN w/ 1/2"x 5" HEX BOLT

AutoCAD SHX Text
11.75

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
[MIN.]

AutoCAD SHX Text
SHEAR PLATES ARE OFFSET TO DICTATE WHICH SIDE " I " BEAMS ARE TO BE MOUNTED

AutoCAD SHX Text
(TOP OF COLUMN)

AutoCAD SHX Text
(END)

AutoCAD SHX Text
(END)

AutoCAD SHX Text
(INTERMEDIATE)

AutoCAD SHX Text
(INTERMEDIATE)

AutoCAD SHX Text
1/2" Sheer Plate, Welded to Column

AutoCAD SHX Text
3/4" Grade 8 Flat Washer, 2" OD

AutoCAD SHX Text
3/4" Grade 8 Flat Washer, 2" OD

AutoCAD SHX Text
3/4" DTI Squirt Washer

AutoCAD SHX Text
3/4" Grade 8 Flat Washer, 1.5" OD

AutoCAD SHX Text
3/4" Grade 8 Hex Nut

AutoCAD SHX Text
3/4"x 2" Grade 8 Hex Bolt

AutoCAD SHX Text
*** Be sure to apply Magna-Lube, -To entire bolt threads. -Before washers are added. -This helps to prevent galling between the nut and bolt.

AutoCAD SHX Text
W10x## I-Beam

AutoCAD SHX Text
REFER TO STRUCTURAL PLAN SHEET S1.02 FOR LOCATION OF STEEL COLUMNS & STEEL BEAMS

AutoCAD SHX Text
RIDGE CAP

AutoCAD SHX Text
WELDMENT

AutoCAD SHX Text
ATTACHMENT ANGLE  ATTACH w 1/2"x 5"  HEX BOLT

AutoCAD SHX Text
QUICK LINK

AutoCAD SHX Text
THIS SIDE TO FACE INTERIOR OF SPACE FOR GREATER VISIBILITY / ACCESS

AutoCAD SHX Text
FPA HURRICANE IMPACT-RESISTANT 16MM 'WHITE' POLYCARBONATE ROOF PANELS & EXTRUSIONS AT GREENHOUSE ROOF

AutoCAD SHX Text
#12 x 1 1/2" SELF TAPPING FLAT HEAD SCREW

AutoCAD SHX Text
16MM POLYCARBONATE

AutoCAD SHX Text
16MM GLAZING CAP 

AutoCAD SHX Text
16MM GLAZING BASE 

AutoCAD SHX Text
#10 x 7/8" TRILOBULAR CAP SCREW

AutoCAD SHX Text
***POLYCARBONATE SHEETS AND EXTRUSIONS MUST BE  PRE-DRILLED PRIOR TO SCREW INSTALLATION.

AutoCAD SHX Text
NOT TO SCALE


NOTE:

3D ISOMETRIC MODEL IS PROVIDED AS A
CONCEPTUAL REFERENCE ONLY AND MAY NOT
ACCURATELY DEPICT ALL ACTUAL BUILDING
CONDITIONS, COMPONENTS, SYSTEMS OR
DESIGN DETAILS.

REFER TO PLANS & ELEVATIONS FOR SITE
SPECIFIC DIMENSIONS, SIZES & DETAILS.

5359 WEST US HIGHWAY 90
FL 32055

TRACTOR SUPPLY CO.
LAKE CITY FL

._,?_
% X
ke
T4
)

RCHNE
HOUSE:

T
N

STRUCTURES + EGUIPMENT 4 COVERINGS

permission of Merchney, LLC.

|

= >
- ‘“[\
> OE4Y
I‘fﬁ 420
5 . T N
E.T o >0
- C%w
f 5§28 5
3 qh)_l‘qt)
'.IL v E:.-Q
~ -

N

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

"ENGINEERING

- CIVIL & STRUCTURAL ENGINEERING

- LZUENDT

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

Wiy
\\“ Ity
A 1
\\‘ \\\DER E ?O f’/, Digitally signed by Alexander Zuendt

~ +‘P‘ """""""" (N b
2 S CENG . %, DN:
3‘ &_—' \«\ 8@ '-./f/o ’*, E=azuen dt@zuendtengineering.com,
T *. A '% CN=Alexander Zuendt, O=Alexander
Ne 81552 .7 = ]
* e = Zuendt, L=Greer, S=South Carolina,
* 17 =c=Us
o* q_ =Contact Info: This document is signed
.ﬁ' = and sealed by Alexander F. Zuendt,
O . This document shall have the

”, r1,/é‘ *
;,ﬁ
"

signature and seal verified and printed

N o - ~ g
”f,((\s"-(. op\Y "(‘9\ " copies-arenot valid

* S are .
‘0, "S; O- N A\. e \‘\\\ Date: 2022.06.20 21:54:43-04'00'
OTHTIT A
Drawing Title:
REVISION

7, 3DISOMETRIC

54.01 Drawn By: Sheet

RGS

Date: 2022.06.13 84 01

Scale: AS NOTED



AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.


AND GLUE

EXTERIOR PVC
DOWNSPOUT @

a SIDEWALL

GUTTER & DOWNSPOUT HORIZONTAL PVC DRAIN LINE

ATTACH TO STEEL DOWNSPOUT
w/(2) SCREWS #12 x 1" TEK

\

ATTACH TO STEEL DOWNSPOUT
/ w/(2) SCREWS #12 x 1" TEK

STEEL GUTTER

STEEL TUBING

AND GLUE

PVC CAPS — PUSHED INWARD — SCREWED
NOTGLUED TO ALLOW FOR REMOVAL/CLEANING H

ATTACH w/(2) SCREWS #12 x 1" TEK

REFER TO ROOF PLAN

SHEET $1.04 FOR LOCATION

ATTACH TO STEEL DOWNSPOUT
/H/ w/(2) SCREWS #12 x 1" TEK

AND GLUE

/ SIDEWALL

n n H 6”
ELBOW

NOTE: CONTRACTOR TO CUT CLEAN CIRCULAR
OPENING [w/ MINIMAL GAP] IN SIDEWALL MATERIAL
TO ACCOMMODATE 6" PVC — SEAL w/ CAULK

EXTERIOR PVC
DOWNSPOUT @
SIDEWALL

<

PVC CAP — CUT APPROX.
3/4 WIDE SLOT / NoTcH 1]
FOR UNIFORM DRAINAGE

- d

(TYP.) REAR INTERIOR CROSSOVER DOWNSPOUTS

7oy (TYP.) PARTIAL SINGLE-BAY ROOF PLAN - REAR INTERIOR DOWNSPOUTS A "

(o)
S505) | g’ g S5.05

[0

N

2" x 2" STEEL TUBE HORIZONTAL FRAMING

THRU-BOLTED TO TRUSS w/ 1/4” x 5" CARRIAGE
BOLTS @ EACH WEB-MEMBER. HEAD OF BOLT TO
OUTSIDE OF STRUCTURE. 2" x 2" STEEL TUBE HORIZONTAL
FRAMING BOLTED TO TRUSS CHORD

HORIZONTAL PVC DRAIN LINE WEB MEMBERS

7o (TYP.) SINGLE BAY REAR FRAMING / HORIZONTAL DRAIN LINE

NOT TO SCALE

SINGLE BAY / SINGLE PEAK - FRAME

PVC HANGER BRACKET \

PIPE HANGER \\

HORIZONTAL PVC DRAIN LINE \

END WALL TRUSS CHORDS /

/ /

7/

o1
\ E oy
SN
N
\WELDMENT
N J
\4” STEEL TUBE COLUMN
U
\
\\\
S

INTERIOR CROSSOVER
DOWNSPOUTS AT REAR OF
GREENHOUSE / FEED ROOM

7o (TYP.) DETAIL - PVC MOUNTING BRACKET

S5.05

NOT TO SCALE

5359 WEST US HIGHWAY 90
FL 32055

TRACTOR SUPPLY CO.
LAKE CITY FL

o
s

OUSE

“?"' T

3

- r b ;
|

1
&N

el
r-—-].—é >
|
. 1 SN 26
. QgLO =1
N _I.C© .
o020 )
[ FIN %
- < S
8 4 >0 o 8
2533
| = c O - o
0O QO > =
1 STIEEs
o 0} @
Wﬂh =T o E
' ~ = &
l?‘—d""d N~

£
)

A
STRUCTURES + EQUIPVIENT + COVERINGS

All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written

ZUENDT

ENGINEERING

CIVIL & STRUCTURAL ENGINEERING

P.O. Box 26177, Greenville, SC 29616 P:(864)990-2995 F:(864)990-2803

\\'IHIIHIH,
o DER F e, - )
\\t*}\\\ S .EN ‘206\" Digitally signed by Alexander Zuendt
G o >, DN:
&_— \«\ 8@ /f/o ’*, E=azuendt@zuendtengineering.com,
TS No 81552 - = CN=Alexander Zuendt, O=Alexander
* 0 x * '-'_-_Zuendt, L=Greer, S=South Carolina,
s 17 '=c=us
o i w @ =Contact Info: This document is signed
ks = and sealed by Alexander F. Zuendt,
% ., STATE OF = PE. This document shall have the
- 4\'-_. - ,3\5 .« signature and seal verified and printed
"r, 6\@ (. CoR '\_9-‘ G copies are not valid.

Lo ‘\ » Date: 2022.06.20 21:54:51-04'00'
‘ IIFONP\‘\-E\\“

Drawing Title: REAR INTERIOR
CROSSOVER DOWNSPOUTS
Drawn By: Sheet
RGS
Date: 2022.06.13 85 05
Revised: .
Scale: AS NOTED



AutoCAD SHX Text
Sheet

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn By:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Revised:

AutoCAD SHX Text
Drawing Title:

AutoCAD SHX Text
All rights reserved: This drawing is the property of Merchney, LLC and may not be reproduced in any form without the written permission of Merchney, LLC.

AutoCAD SHX Text
SLOPE 1" PER 12FT AS REQUIRED

AutoCAD SHX Text
 TEE

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"-6"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
PVC PIPE

AutoCAD SHX Text
REFER TO ROOF PLAN   TO ROOF PLAN   FOR LOCATION

AutoCAD SHX Text
STEEL TUBING

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
STEEL GUTTER

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
4"

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
6"

AutoCAD SHX Text
PVC CAPS - PUSHED INWARD - SCREWED  GLUED TO ALLOW FOR REMOVAL/CLEANING

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
4"

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
ATTACH w/(2) SCREWS #12 x 1" TEK

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
4" 45°

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
4" 45°

AutoCAD SHX Text
1/8"=1'-0"

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
GUTTER & DOWNSPOUT

AutoCAD SHX Text
HORIZONTAL PVC DRAIN LINE

AutoCAD SHX Text
HORIZONTAL PVC DRAIN LINE

AutoCAD SHX Text
EXTERIOR PVC  DOWNSPOUT @  SIDEWALL

AutoCAD SHX Text
EXTERIOR PVC  DOWNSPOUT @  SIDEWALL

AutoCAD SHX Text
PVC CAP - CUT APPROX. 3/4" WIDE SLOT / NOTCH FOR UNIFORM DRAINAGE

AutoCAD SHX Text
ATTACH TO STEEL DOWNSPOUT w/(2) SCREWS #12 x 1" TEK AND GLUE

AutoCAD SHX Text
ATTACH TO STEEL DOWNSPOUT w/(2) SCREWS #12 x 1" TEK AND GLUE

AutoCAD SHX Text
ATTACH TO STEEL DOWNSPOUT w/(2) SCREWS #12 x 1" TEK AND GLUE

AutoCAD SHX Text
2" x 2" STEEL TUBE HORIZONTAL FRAMING THRU-BOLTED TO TRUSS w/ 1/4" x 5" CARRIAGE BOLTS @ EACH WEB-MEMBER. HEAD OF BOLT TO OUTSIDE OF STRUCTURE.

AutoCAD SHX Text
SIDEWALL

AutoCAD SHX Text
 CONTRACTOR TO CUT CLEAN CIRCULAR OPENING [w/ MINIMAL GAP] IN SIDEWALL MATERIAL TO ACCOMMODATE 6" PVC - SEAL w/ CAULK

AutoCAD SHX Text
END WALL TRUSS CHORDS

AutoCAD SHX Text
PVC HANGER BRACKET

AutoCAD SHX Text
HORIZONTAL PVC DRAIN LINE

AutoCAD SHX Text
WELDMENT

AutoCAD SHX Text
4" STEEL TUBE COLUMN

AutoCAD SHX Text
2" x 2" STEEL TUBE HORIZONTAL  FRAMING BOLTED TO TRUSS CHORD  WEB MEMBERS 

AutoCAD SHX Text
PIPE HANGER


	TSC lake city fl 550 FPA s1.01
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s1.02
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s1.03
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s1.04
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s2.01
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s3.00
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s3.02
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s4.01
	Sheets and Views
	Model


	TSC lake city fl 550 FPA s5.05
	Sheets and Views
	Model



